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1) X3 in Xyo¥n 822

a) If aypap Hva gives a 7w to a 2apn for v>1 on a m*on basis and o°1y1 planted in
the 7w aren’t mm¥ — the %2pn can’t be 121n from n17°om he owes to the ypapn Hva
— because the ypapn Sva can say "2°1991 yIh aver o 90"

2) Two o351 to explain the mvv by vpapn Sva that "2o19%1 vyarS aysar o 53"

a) First 7771 — the reason that the 77w wasn’t mmx is that you made your ;v>01 (the
TNWRD 7Y) in a par that wasn’t 7yo1% IR0

b) Second 791 — the reason that the 77w wasn’t ma is that you used oonwAr that
weren’t YT 1UIR0

3) X"wann

a) It can’t be that the X n3 intends the second 7%n because the mivv by the 25w that
“you used 0°1v71 that weren’t 7319 1% would apply also if the 2apn was ¥
7yron 93 —and in fact >"wx (meaning the w'"x1) asks why the &1 assumes
that if the 9apn was nyoar »° 92 vy the vpapa Hva is 70on and can’t rely on the
mIwv that “you used 22177 that weren’t 73712 1R

4) nawn here — if a 701 sells 713 *1wAr that aren’t 7v°712 »X the npn is a Myw npn
5) moown —xwp as explained by R"wamn



a) Now that we’ve established that in Xy>%7 822 the vpapi Hva is 1w that the 7w
wasn’t max because the %apn was vt too early

b) The 251 here too should be 33 that the 2°1w-1 were 7915 1187 and the reason
that 1y X5 was that the np12 was ¥71 too early and should have been »> %> v
Al

'TN'71 2" TN A 770 7MW DINAT X'AI0

QIYITIA QINT2 MR KDY D DO "D VIO I NIRY ORRDIR D 2% 1D I 7' A
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1) nvw of an 120 as explained by X"wAmn

a) 1327 in general hold that “& o°»777 1% — and 21 in general holds that 1ana 122917
2177 R — but there are the following exceptions

b) First exception

i) 21 agrees that a 121 who’s prmin can say "vyng 1 IRw SXwoaa v op" if PR
"ov>7In oonTa in favor of 1>

ii) for example if np1? was nnp a "knvan" and ooy 1 o170 PR — the 751 who's
PTMIN can say "byvan 1A CIRW OXwo1a v o°p" and it doesn’t avail to 1> that
"Xn°an" to "wRT X211 Means a n°an that’s 79173 and not a 75 that’s mawp

c) Second exception
i) 1327 agree that “x1 o°n7 for a n1> if 211 supports the >

ii) for example 1121 say oon7 is a &1 for a P12 who’s nnp a "mx" and 1P X2
7% P2

d) xwp

1) Aty a7 the X3 says for 11217 that &3 o177 1) and the 95w is 7217 even
though np12i N2 oo n 0N

e) yn

i) The xnx deals with where 211 doesn’t support the 217 because 72%% 1P X210
MY
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a) 27— 1NN XU MR APIZ T2 PR 0D WA 212 A RXNAI 170200 W 100
7% 107972 VITWD 12 17 2127 IR DRIMWI NIVY 1P 37 070 NR

b) For 21 who holds that there is a myv npn — the np1% needs to return the " w and the
15 needs to return the myn that the n1> paid

Twnn of the Xna
a) Nwp per the xona of o"awn

SWIR IMRT AT RNN 2037 — P11 IPHY SMPNWIRD MR K97 X
YIOX MIRD MW N

b) xwp per the xom3 of *"1

MINRT N7 RN 2037 919 MIHARIRY T 237 01D 1TINYT R
YIDR IND TNV NN WIR

Certain mww on 23

a) We’ve established for the ko3 of o"awn that in a myw npn the np1% can be 72w any
11 of the 75w — 0"awA holds that a 211 v can also be 721 any 1y of the %

b) We’ve established for the &0 of "3 that in a myv npn the 1> can be 7213 from
the 15w only the 11 that the n17 paid to the 121 and not any other *11 of the 1om
— but »"9 agrees with o"aw= that a 217 5¥2 can be 72w any *nr of the m>

C) 375 21127 in MooIn agrees with > that in a myw npn the npY» can be 72 from
the 1211 only the >nr that the 1% paid — but he disagrees with o"aw= and *"1 and
says that a 217 2 can’t be °17 72 even if the 7% has *11 because the m? can insist
that the 211 2 be 1721 from other o°032

27 Yva myv npn
17 5on N1 Hon o"awn
T 901 Ml 5"
77 ROR 72K TN I 070 AN
v v
ighialehfel

a) Xwpto 175 270 1N
1) X3 in 2mM37 P9 in M2Nd Noon

27 Y25 — 2117 YY) AWK N2IND POV WO TN RYIR D NORT IND X7
RYIN2 RNNPR?Y 772 Phon

b) y»n

i) The & 3 means only that if a person has 11 and XyAR it’s better (for a reason
not relevant here) that he pay the nr to his 211 %2 and the xyx for 7wk N2>

C) noRw

i) Why doesn’t 175 0> 1021 say that — the same as his v w for myv npn —a Hva
21 can 210 93 B be 7213 the actual *n1 he was 157 to the m> — and the X773 in
m21na deals with =23 of the actual 117 that the 217 5va was mbn to the mb



d) nawn

i) mneaaReIa? mon — it follows that the 197 ought not to depend on whether a M7
still has the original *nr he borrowed

IOXXRT AN "D 770 W DINAT X*AIo

"D 71''227 M OB NYDT RONT NI "I MR RO KRBT JPYMARWKRY TMUINT 7N
Bar "1 T TATY ATINIDT OR PAYRRA 9078 KRBT 2''aw nuhws H X920 9oy
ROIR 1''57Y 10 TN AR MR OTIT NI O MR ROT 2"Y D 07T ' b

2™y HyD Y2 anT b

1) Twnn of maoin

a) on a1 agrees with o"awA and °"1 that a 2 Hva can be 721 from any 11 of the
MY but if the m> has no °nr the 211 ¥a can’t say 11 °n>>X1 7w — unlike a Y15 who
can demand ">nr >n>x1 naw" from a n°2i7 5va who has no onr

i) 217 Hva myo npn
M1 50 Malfivila) a"avn
Nalfea Maighih] >
7 KOR 722K MaiRhih] 70 270 1N
7o 73w
STIT ONRY 0 T 9on [1772 1] an 1

b) & to the 7w w of an a7 on Yo as explained by X"wonn

i) The & nx says in xy¥» 822 that a n°a71 %¥2 can’t tell his 2¥19 that nwyw an v
775w because the 1>7 of ¥19X Xk Pmwn »n doesn’t apply to a 310 —
it’s vnwn that there is another ¥ya1n whose 1> is less than a %319 and against
whom the ¥an1 can say ¥19X IR TRwA nn

i) on 20 explains that this other vain is a 217 %¥2 and since (based on the novw
of a"awn) a 211 Hva can be 121 from all »nr of the 7Y% it must be that 519 has
the further advantage that if his n>a77 Sva has no >11 the 5 can demand 11w
MIT DR

2) X"wann

a) Note that if on 1127 were to agree with >" for myv npn that the n» can be 721
only from 11 that the > paid — we’d be 791 the &~ of an 11°27 by saying that
the ¥y21n who has less 5 than a 19 is the npY? in a myv npn who can be 721 only
from the >111 he paid — and that the advantage of the 2o over a > is only that a
5y19 (the same as a 211 Hv2) can be 721w from any °nr of the n*an Sva

"7 Xn'7 'RnN1 A" TN
77959 B B oY "D PO 77213 VAT 10 297 R2WMRT 11 N "0 RO ORBRY 7'
H'"PY TMD TIAD TRWhANIR

1) First an7pn — 27 says that 21777 0K PR P

2) Second 7P — The 72100 of a 7902 is o°nkn — the 72105 of an 7ok or AW is man —
an nwx who claims that her 72102 is °nx» needs to prove that nxw»1 77102



3) X3 — RWp to 27 — MR M2 o°w1 217 — why doesn’t the 7w have nminki based on

MM

4) mooin

5)

a)

b)

Xowp

i) Say that 2171 doesn’t give nmianRi to the nwx because the va has the benefit of
YD IR VI ORT AN

laRb
i) The x7nx deals with where va can’t say *ny1o because the nwx has a qow

ii) the 7vw is a va because if it’s a 721> we’d know from the 72305 whether 79102
NRY"1

X"wAnn

a)

mooin must hold that the X3 asked only for w1 that the nwk ought to have
1K1 based on 211 because her v is 77197 the 1on of Hya — but for 7% the X2
accepts that the nwx has no manaKi because 2va does have a n

AX O71
NAINT DIYN IX? "N XA

TV APIRITT IORT P PARR 1D RAMT 22 IR V' XA [R TIRY AR 0T
™Y 3 aRT MM OV MIPY PR NINR KDY TIDD oW 37 KD NINPTH PIMN

1) xm
a) PRI says 2177 X Nnna 1709 1R and the prmn s 701 if he has a 7w
2) XnUM2
@) T°I97 TOW T2 MR PINA DOW0 — IWONT 233 R¥AIY 179207 172V 000
3) XM
a) Nwp to YR
i) Presumably 1¥°37 213 X371 is because o>7ay 217 are o°an
4) 1"amn
a) Nwp
i) Maybe in the case of the xn>>12 the 151 is 107 because the 1 already had
paid the 1211 and the 25w is p1mn
b) y»n

i) the xn>91 applies also where the np1% hasn’t yet paid for the 72y — proof is that
the xn»2 says that for P 0w the 1> tells the 251 "7719% 75w " and
the xn>>12 doesn’t say that the 7°on is a myw npn and that the n1% recovers his
money



DNIX 'R 2" T D0"awn

R 2978 299 KON DINVT WAL SR 70 ROD INIAT 10 29K PR 772 2" awnna
AL SITT ORTI2 PR PSP MR M2 9PIDTD RDWWT 10T RTIT 2o "1 MW T
RDYST IDW YIMRT WMDY JRAT DT AR AR NWT TR AR KD 7RO Rnwm
IR 2TV WO IS NN AR T T 0D DRARNRT D MWDK MR M2 Pt
577 D'"HRT MR OPIDOD RO NI SIOAIT 2OTYT INT KD ON D2AR 7707 DR A "D
2R MR PIDOY RDIDT DT 1D TR FTN2IWY 1T TIMINT 77D RBAIW W B''S5

H''Y PEDR THND PII YA an 7D N5b P R

1) PR —.m a7 Xnp X222 mwn

OR 71727 031 ROW 7V OR Y170 PRI 7782 77219 KA1 7797 DR A W
7RI POONT — T2 PT1 Y271 0N 1973 779 PTIOXT 2YWN 779 AW
D1OMI02 T2 MMPwn

2) XnUM2
1OWI I AL AT T2 DOMIN PR ITED AT MW REAN 717 AW W
3) o"awn — w2 of the X2
a) v haw W a"y

"PIDDY ROORY QWY NP7 7277 DMWY TITT DIWR AYN DA UPIT ORI
R0 2992

b) R PR a7

K17 INDT RA2D MIPWY *177 KD PHO 20T 11 129DRT NWDT RAYY 1177
7797 IR AW NWH DT K21 — 29K 291 RSO DIRIT A W 10
3277 12°OKY WD O T DR A1 OR PYTY UK PRI 7YY 772w RN

77977 DR AW JIRIT TR RAVY 1170 ONAT X390 D 102

4) R"wamn
a) Nwp to 0"awn

i) It’s ynwn from the 1w of o"awn in bold that anx2 *p1o0% 822 is enough reason
to conclude that a particular 2w did the 7m°31 — so why does o"awn say that the
7awn holds that it’s only based on W w o>7v that we can decide that a
particular 7w did the nmoas

b) v

1) The niwn uses the words 7757 R naw MW instead of the words 719 R¥nw W
17¥2 7377 — this proves that a case where there’s no 2>7v counts as *p190% XX
TR and the 2w %y is ws

NaN N2 2T n"avwn

TR YR RO A" oY 119 AV 2NN 2197 A0 KOOKY 15 K217 02 7'
ROOK K257 7' 177251 977570 FPTY K219 1''RT SIPIT N2 POIRT KON 9390 297 b



STRTMT YT V0L T SIPTTY R2INT ML OPaT RIT RN AP TA 2R 2
Y% MORT MNP K212 RROYA J0NT 2PVR 2 NN 30 NOR AR PR RN
RITT 2IWM RADYT X212 RDOTY IRTY IR 7 1102 JRI 107 91 700 N XYY Rabya

TP'TY TR KD IMY PITIR STODIA

NNnpn M7 XX a"Tn

T BT H''OY 10 YINRI 9IDT RNINYIRRT VIPIAD 1D RRPpR 219D RO 17''72 "0
NRPW 7Y 2R NP PPRNINNRR RTT RADD N7 RNINYIANT M ROIRT 212070 N7 KD poOT
22 72 NIRRT 'Y RUR MUDY PROT on MDIDRT PEOAT YRWRT "D TR M
MYDIDRT RVIVI TN RA®D RNINY 2R 7797 ORT TV MW7 790 W7 9357 SN N2T

I2'1TY MWD R T RADD 0

1) mnpn
a) 27 says 2177 MK PN PO
2) mwn

77920 A0A1 RDW TV AR VT PRI 782 772 K¥AN 73797 DR 7AW W
T2WY MW WAIT MNP 770 ANAWA DX A0 2TPY MR IND°OIT 1m0
P9I 2902 YA AN 20T 019N PRI INTHY aTPn

3) X
a) Nwptoan

i) Mo are x»p 12 M72r and only a w1y are m?*on — so for 21 the mawn
should have said that the 121y was a X»>p 32 who died because of the ama

b) v
i) there are also 012w that j7°nnx are m>°on because of w7 xninya
4) mooin —x of the k) as explained by X"wAin

a) The X3 adds the vy n of Mo to the w1y n of 7907 kMINY°an — the combination
counts as X7

5) X"wann
a) Nwp

i) Why doesn’t m»oin say more simply that 7%°553 Xmny»an counts as X375 on its
own

b) First yr°n

i) From the words in the mawn that "77%> a1 ROW 79 oxk 317 PR" it’s ynwn that at
least part of the oo is based on m%°5n without xknminy»a

c) Second y1n

i) If "kmnyea nama mpon" itself counts as X399 its combination with the v
n7o that are Mm% »n without xninya should result in 217 that’s “vw the Sya
Wi

10
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5" oy 12 3"awN R0 ORITT 172 N7 7T0aR 11D 2N WY N2 7172 [2 T ax 0T
AR 97 20N RN DIV QWD T2 MRT KT A AW R'IORIT 172 10T AR B
'™y "N

DY XYID NINY 1510 2N 2"

1D 5w RRIID NWR 0 7O AR 2Ima RN 17 T 7'eT "o v1sn avn T2
TRIN 7AW NS PRIAY ART aYUR 2172 AR 207 707 mb R N1 R9Y B''oy
oW RRMNIWDT RIVOHT RIT PRID DPNIT 2'10 201 R YRID RIT PO 291 Dpbpw

15" mY Mo RIS NINRD D' RD 7192 291 1R RNT YRIDT 190 9057 PR KD

TX QT 7T
17 N2 A" TN

By "2 AT 179AR PR PR AR T KDY 1D 90 1 A [R TRy TR 7]
AR POV 272 WIRT MR DIAT P52 WARP J127) »''T RNMPORT 2w 'Y
199 9T RY ROTT 77 10 1277 AR KD 101U DTN PIAD NN PP PRY 9272

'y OB 1IN PP DR P

1) First anTpn — nwnw ' says that "an 1en% 070 127" — 1327 say that e o7 127"
n
AR AR

2) Second TP —a np12 who buys a 1°v°n nX0 can’t complain if it contains up to a Y211
of Mm% so long as the 25 wasn’t 29w the 2°7°2 MY

3) moon — certain o7 °P1on as explained by R"waan

a) A person who is p°ma a thing that counts as 1an 1Py and that has n»w to all
persons is 2»r both for nynw ' and 1327 — it follows that if a person is 772n the
m e from a pv°n Ro so that the 101 has to replace the mm1nx with expensive
1von to make up the full &0 — both nwnw ' and 1327 say the person is 2> because
the m 1% count as nan 1Py and have 1w to any 1°vn oM

b) A person who is p*1» a thing that counts as 17m» 1y but has m»w only to the 11
is a 17mn% o7 that counts as 11an for vnaw ' and not for 13217 — now

(1) a person who is ynn 21 before nos can return it after nos even though it’s
then nx172 708 — and a third person who is 7w this y»n forces the 1213 to
repay the 511 with expensive ynn that’s ax372 200

(2) it follows that the W counts as a 1an? oa because although the yan
counts as 11mn 11p°w it has nw only to the 1713 — and as a result the aw is
21 only for pynw " and not for 1327

11



c) A person who is °1 a thing that’s not 17 17p°v is Mo also for Pynw "™ —it
follows that 17720 YW 1w A wn that’s 8n5vy2 971 doesn’t count as a mn? 2713 and
is Mo also for pynw "

oyn' Yan Nl U'Y axo 2" TN 'K p'7n vyn'T X210

WADRT I 5% 2"MawnT B 'Oy "D D RDIPT RIWHRY 10 ww IND 17''7a
990 YT 'OINT MDY 77 90D DAR ROIP B9 5192 TR KD UYMW 2T VYR Y
1N 779 T RINT 2991 20KRDS YO 2P DY RDIP 7792 TR BW IYUTT NN
A1 2IYT 2 J0IP RITT 9T RPT PR UM P2 WK YRR D b jveap{T
anD 3"aRNT WATITRY MO MY TR RDT 2ORDD2 ''RWH 29 7O9ID INDT W
9017 77" WRY PR DW NI IYONTT MIDT Y212 DR 2P RIADOT R A1 anT

'Y 5o "D uynh KUK 10017 KD 7''ORY MpYY 70
1) mwn

a) A > who buys a yuen a0 is 2apn that the nxo can contain up to a v217 of mx
— but the 7211 can’t 0>7°2 be 27w any mx at all

2) XM

a) X177 27— If the oY% is o the xo and finds mm1nx that are ¥217m A he is 7o
1212 NX — meaning that the 1>1m must make the n17 whole not only for the portion
that’s ¥217n 20y but also for the ¥y217

b) "8 X0IPT AR MR" — it’s moow for a R0 to have up to a yar of M1 and we’re
not w> i that the 221 was o°7°2 27yn and we’re not 011 the 121 — but if there’s
¥217% 0 this isn’t 0w and "n on" that the 75w wasn’t 27vn o°ra all of the
2°7°2 MX — and as a result 13127 are o1p the 1212 to be 1710 o1

3) anTpnon certain ooray for aXIana o°K9

a) X192y 910 agree that it’s 7N to be 27yn a AR 1 with 7X12n so long as there’s no
7YOIT — RO o910 also agree that it’s MoK to be y 1 a ank P with x1an if the P
InR has a 2°x%2 W

b) 2"awA holds that 2°&%2 My wa IR P 72 YW IR0 IS X172 0K
c) m»on holds that ank 11 72 YA1Iw X120 isn’t 7RI OR

4) mwn
a) Rw™M

i) If ax1an R0 has a IR Pan ¥y the axana Sv2 must be vynn the ank i to
less than a yan

b) o0
i) o1 " holds that 7215 712> — he must remove the nx 1» entirely
5) xmx— xwp to the "xop own 7% »wR" as explained by msoin
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6)

7)

1)

2)

a) For x17 27 why for o°X%5 is it enough that there be vvnn to ¥21m mins — we ought
to be ¥217 10R ¥ Mo onp the same as for mnx where X117 27 says we’re in
effect "varn a0 WK ¥ mnd onp”

mooin as explained by x"wann

a) X°wp to 0"awn — The mwn must deal with wyarw amp because o"awn holds that
after ny>91 the nX1an is X172 MoxR and mwyna will be of no avail — but why would
there be a oip for 7v>1 a7 when it’s a0 to be RN 29v» with a nR 1

b) for mooin this is no xwp because the 7awn can deal with 7v>ar anR> that was done
To°K2 and mvynn is relevant because it will permit use of the x1an that’s ann
X172

R"wIN
a) Nwp to both o"awn and m»doin

i) We established that the oip for mx is to be 1910 nX 7911 because we’re wwn
based on "n1717x v a0y mow X5 that "> n" that the person wasn’t 27yn
To°Kka all of the myx

ii) But for o°x%> there’s no Mok to be 27yn even a ¥217 because only w9y of a
Y217 IS MOR

b) y1n based on 7"am

1) We’re onp because we assume that the person was a°7°2 ¥211 27w for the
purpose of mo°Xa 7y>1 in order that the o°139-1 produce better m=° - and the
x*wp of the &7n3 to X1 27 is why the o1p requires Tuyni only to ¥y nnd

TX 71
N9'0 NN'X 0" Tn "2 770 vyn'T X110

DO TWRATT Y0 PRT 9O "D w''n 339073 KDY RSO0 RPOR 71''72 [2 Ty TR 7]
977790 2''RT 9" DIPOR KRN0 PRT V'R RIT RADY2 RIRITT M ITRAN NN20 O
NN ROR RN PRwnT 2''n oAb RDI9T X7 RURIPT 2"V RIR P''nn Xwpn

'Ry ' RN RWRIPT PR 1D KD
Twnn of the X3 — 117 to the Xowp of the X713 to 81177 20
a) In fact the o>x%5 Mw>w is yarwa anr and for y217 there is no Mox at all

b) It follows that a person who is ¥711 a ¥217 isn’t 121w an 0°%%2 MoK and there’s no
reason to be onp him — instead the Rp Xin says vyn as a Xnbva X and for a
Xm7 the Xnp Xin doesn’t go so far as to say 7215 12

mooin as explained by X"wamn

a) There are two mona to the qwni of the & na
1) "2 MR "0 " RDD KRR D77 R
i) "2° MR "0 " KD YW KN
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b) The words &5°0 &k °377 °X for the first xo7x imply a 829°9 to the “»n7 that the mawn
deals with a xn%vya X — namely that it can’t be that the 7awn deals with a x
Xn>y2 because then *o1 " in the X9°0 wouldn’t go so far as to say 712 M2’ — and
since the mawn must deal with m0°r the X°wp to x171 21 from the ®»p Xin remains

c) The words ynw xn for the second xo7x imply that the x2nx accepts that the mawn
deals with a xn%va & and holds that the v w of *o1 ' who holds 7915 112
supports the nv>w of 1177 27 that 1715 nX 79131 — and since the mwn deals with x 0
X191 it’s not a X°wp to X7 27 that Xnp Xin disagrees with *01° "

3) mooin

a) Nwp to the second X073 — it’s not 12non that the &7 would accept the »>r7 that
the mwn deals with x»n%v2 X2 and at the same time hold that >0y "1 goes so far
as to hold that 7913 112

4) R"wImn
a) oRw

1) Maybe the second xo"a is correct and the nwpn (meaning the anxT 18n who
says vnw Rn) in fact doesn’t accept the 17 of Xnbya kv for the very reason
that this would make impossible the 7v°w of *01 " — with the result that "o ™
says 1710 112° based on 10°Kk and the “nK7 18 Who says vaw &n says this
supports X117 27

b) nawn

i) Can’t be because then the original x*wp to x1177 27 from the &»p xin would
remain

DX T

I" 7w naan 2" T NIDOIN 'X 770 9NINT XAI0

72137 Doy "D 19IDR KD NIarTa N5 192 AR 10 1 B nean 7''Ta [R TRy R nT]
190 1% JNI1 IRMR AN0 10 DR nNRAT KW RDODR 0 MWPTY AT RNMRR RNMI2T
AT [1apo] (387D) 7' RDINT RPN K727 9992 K77 NI 907217 190 K91 7790 Yoow

T ™Y 379 RD N DRI RPIT RNPAP RN2T RO 17

1) nmawn and Xn>onp 8NN3

T PR PaR 10 ano 1 YW ann mawn
2 PRY 7Y NOOP 7P
RN WY 1w

MODIP 22pn 1RY 1197 191 ano 1 YW Ann RNPHP RNMI2T XY™
mMana onIT 50 31 NN XN™7p KN™I27 RNYO¥N
PRI 910 199DR ikaiaila RNMHP RN™I27T XD°0

2) XM
a) Xwp — the mwn and Xn»xp X027 XKW are Ano each other
b) yy71°n —°1n that the xn>>92 holds that the np1% is mooip 22pn the same as the mawn
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Mmoo 2apn Dar 19> 1913 ano 1 YW AnTn nwn

bapnT 1M 797 1910 ono P 5w AN RN™0p RN™I127 XU
nmooyp

mMIna onIT 5 a1 NN RN™0p KN™I27 RNYO¥A

y27 1212 1995R iaiaile RNHP RN*I27 XD°0

3) mooIn at Nana "0 P e Aty

a) 1 that’s mana 7on1 isn’t 719° 1912 because it’s X7n "> but it still counts as 1
because xnn ny

4) Line 5 of the following table sets out the xn>92 of x»n " *1n

moop 73pm 119> 1910 ano 1 Hw Ann mwn | 1

DapnT 1M A9 1912 ano P YW Ann XNPHP RNP2TRYM | 2
moop

mana onIa 5w a1 qnn XN™np RNMI27 ROWRA | 3

7T 1910 199K a1 N XN»np RN™MA2T 800 | 4

MO0 Bapn K9 7190 1910 ane 1 bw nvan N7 "1 unTRA™Ma | S

5) mooin

a) Nwp to the xn»92 of x»n " a0 in line 5 — why does the 25w need to give 1710w 1
79> — why isn’t it enough that he give n1a 15117 1 the same as in line 3 for the
xny>xn of xn>np kN2

6) X"wann
a) Nwp

1) moown should have asked this x*wp to the xw> of kn»np ’n»71 itself in line 2 —
namely why isn’t it enough that the 221 give min2 25n37 1 that’s X nyy
the same as in line 3 for the xny>xn of Xn»np Xn»92

b) y1n

i) We’ll establish in "3 pn that there’s a &7 38%n who holds that the 7 in line 2
applies only where 112977 0»pnnT 7opn? "2 MR 1 — and it’s a muw»s that 1
Mana onI 1sn’t fit for 79PN

I" 7w naan "1 0"awn 2 P70 qnanT X2Io

RNADD "2 RN RUTTT KW DaR 1D XNOAR XM 772 2" awn0a [2 TRy TR 0T
MDD T KON F7DPRY MR P''ODY RNAWD 57 KD 7927 207 R@O12 Dar 5oy "o apb RO
TR'TY AR Epnb DR RDa 7' T OR

1) Twni of the X
a) Xwp

i) Why is it that for ano 1 5w n»an (in line 5 for the xn>>12 of x»n "1 °1n) the n°
isn’t Mmoo 9apn while for ano 12 5w Anan (in line 1 for the mawn and in line 2
for xn»np xn»727 Xw1) the n? needs to be Mmooy Hapn
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mooIp 2apm 197 1910 ano 10 YW Ann mwn | 1
DapnT 1M A9 1912 ano P YW Ann XN™MP RNPI2T XU
moop
I MINA oRIT 5w A ann XN™HP RNPI2T ROVRA | 3
Nom ™
7T 1910 199K a1 N XN»np RN™MA2T 800 | 4
Moo 7apn X1 1197 1910 ano 1 YW nhan RPN INTRN™2 | S
2) o"awn
a) Nwp

i) Obviously the jwpn assumed that there ought to be no difference between
ono 1 Hw Anan and ono 1 Yw n*an and that the 17 ought to be that apn w1k
mooip for both

i) How does the wpn himself understand why x*»17 '3 °1n teaches its 17 only for
nan

b) v n
i) This is what the jwpn thought:

(1) a nan holds less 1 than a Anan so it’s more likely that a 12 buys it for
immediate »>nw (rather than 131x?) and it’s less important for the np1? that
the 1> be 211 7915 — and we might have thought that — although for an=n
ano the 17 is Moo 2pn 11°R — the P> of a noan is mooIp 2apn

(2) that’s why ®>11 "1 *1n needs to teach the xn121 that this 7% isn’t correct
and the 1>7 for n>am is Mmoo H2pn 1°r the same as for anqn

3) Twnn of the X
a) y1nto the Xwp to the xn»92 of X»n " 10

i) For nan the 17 is mooip %apn 1R because n°an is X nn 71 X715 and there’s no
practical way to give the n1% 10 moop for each xn

ii) contrast a nnon that has many nvan and 15w can give the P12 90 nran of 1
79> and 10 nyan of moop

4) 721" in7 ’n2 as in the following table — note that 7°ar 21 °an needs to say that the
mwn deals with 1 5w 1 anan as in line 2 because otherwise the 7awn in line 1 would
be 2o the xw™ of 1ar a7 anin line 3

Aes¥-bann apo-y by anay s | 1

oD Lapn 719% W aRp 1Y YW M AN mawnb oaravan | 2

ORI Yapn RYY ;7180 190 ano I Yw nnan Toar A unT R | 3

OO Dapny Y WD ™ 5w 73 anan At unT oW | 4

SapnT "M 97 191 ano 1 5w Ann RNMP RN™M2ATRYM | 5
mooip

mana onIn 5w 71 NN XN™0p RNMI2T ROV | 6

PRI 1212 120K idalanla) XN™2p XKN™2TRDD | 7

mMooIp 2apn R 7197 1910 ano P YW nvan XM InTRNTI2 | 8

5) R
a) First xwp
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i) Line 3 in the &w> of 121 21 °1n (that the P12 isn’t MoDIP 22pn in and Anan) is
1Mo the xw>n of xn>>»p kN2 in line 5 for which we’ve said moop 92pn7 °1n

b) vy n to the first xwp

i) Once 721 21 °1n teaches that the 7awn deals with 1> 5w ar anan (to make the
7awn consistent with the &w 7 of kn»np kn73) it’s no longer necessary to say
for Xxn»np XN>127 X that Mooy 53pn7 10 and in fact Xn»np XN™127 XYM in
line 5 says that moo1p 2apn &% as in the following table

Aesi-ann 2pp-p b anay s | 1

mooIp 2apm 197 191 aRe 1 YW AT ann Jawn? aranan | 2

Moo 73pn K71 1197 1210 ano 1 Hw Ann 21 27N RY | 3

M0 PapmI 197 191D 050 AT ann AT InNT R0 | 4

Bapn R -3/3 7190 191D ano ™ Yw ann RNPHP RA™2ATRYN | 5
moop

mana onIn 5w a1 NN XN™MP RNMI2T ROV | 6

¥ 1210 17°0X iatamra) XN>np XN™27 800 | 7

moop 2apn X7 1197 1210 ano 7 YW nvan X' InTRNMa |8

c) Second xwp

1) Line 2 of 721 21 "1n for the 7awn and line 4 of kn>»np ’n»127 Xw (that both
say that the npY? is Mmoo %apn in P> 5w a1 Anan) are 1Mo the Xny>sn of ’n™2
xn»np in line 6 that the 121 gives mana 25117 1
d) y»n

i) Taranin line 2 for the mawn and in line 4 deals with where opn% % R n? —
the xny>xn of Xn>»np X712 in line 6 deals with where opn% ™% R &Y

APoP-a0n BRe ™ hw onan e |+

MR MO0 2apn ™ 5w a1 ann mwn? arancin | 2
mopn®

mooIp 2apn K? ono 1 YW Ann AT R | 3

“MNT2 MO0 Yapn ™ 5w a1 NN ATV AT R0 | 4
opnY

Mmoo 7apn Ky ano 1 Yw AN XN™np XKN™M2ATRY™M | 5

%R K972 MIM2 10037 7 5w a1 NN XN™np RN™I2T ROV | 6
mopn®

PRI 1212 120K a1 NN XN™MP XKN™M2TRDD | 7

mooIp 2apn R? ano P YW nvan RO MINTRNTI2 | 8

i) Keep in mind here and in the remainder of the x°x10 that

(1) it’s more 72non to say Moo 2apn &7 for 7opn? B2 ank than for % nK XY
Topn°

(2) and it’s more 12007 to say Mmoo 2apn for 7opn? % Ak &S than for % anx
Topn°

6) o"awn

a) We’ll establish in '3 P71 that there’s a np12rn between xnx 27 and x1°27 on whether
the xw of Xn>>np ’n>92 for ono Anan in line 5 ( Moo 22pn RY) deals R X772
7opn° the same as the xny wn of xn>np xn» 2 in line 6 or whether based on >on
X1omn (whose o'v1» aren’t relevant here) the 8n*>72 in line 5 (unlike the xn»92in
line 6) deals with opn? "% KT
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7) R"wann

a) But xnx 27 and X121 agree that the xw>a of a1 27 °1n that moop Hapn RS for Ann
7 9w ono in line 3 deals 79pn % ax7a the same as we’ve established for the x5°0
of arav°anin line 4

MeBt-2arn apRe-P e aRTn e | 1

ART2 MO0 Papn 350 T ann Jawn? Taravan | 2
79pn?

RT3 MO0 2apn K7 ono 1 5w Ann AT AINTRYM | 3
opRY

TMRT2 MDD Dapn 9w T a0 Tara1InTIRo0 | 4
nopnh

KNS MO0 73pn XY ano 17 YW ann

N1°27) RN 297

TR X972 MAN3A 0037 7
7opn?

P 1910 199K

moop 7apn X7

22pn X Th 2" TN A P70 QAT X210

7' 205 DR Doy 12 opnb 'R K92 PInn P "o hapn R a''Ta 'oIn
"DINT AT Doy mLwDR 9 J19PER KDY T PRI unm RRPIND RIDMI RDT Dapn
SRART RPN 2772 2INPT RO RNN2T 7927 297 172 Dapn 7''n% SwpnT 31an 2w

22'7Y o DR 7T BRTA hannb P

XN»RP XN™M2TRYN | S

5w a1 A XN™np XN™127 XDV | 6

iatamra)
ano 7 YW nvan

XN»Hp XN™M27 800 | 7
X»n'anTnra | 8

1) mnpn

a) Although we’ve established for both Xn& 27 and x1°2 that the xw1 of 7221 21 °1nin
line 3 (that moop 9apn R for ano 1 Hw Anan) deals with mopn% % xT2

b) they disagree in 3 71w whether moop 22pn 82 would also apply if "% nx X
Topn°

2) mooin
a) Nwp

i) For the anx7 1%n who says that mooip %apn X7 in line 3 applies only if % nax
nopn —why in 'a pon of the X210 did 7°a1 21 °1n need to say in line 2 that the
mwn deals with 7> 5w 71 ann in order to avoid a 77°no between the 7awn on
ano AN and 7021 27 °1n on and Ann — when 721 21 °an could have said that
the mawn in line 1 deals with ano 1 5w anan where 79pn% % 9K XS

R 8972 MO0 23PN
"5

IRRT2 MODIP 93PN
nopnh

IR TS MDD Yapn R
"N TaR2 RPOT MRT
nopnY

ano 1 Hw Ann s Newpd mawn | 1

5w a1 A mwn? Tarancan | 2

ono 1 5w Ann TAr AT RY | 3

7OpMY MR MO0 2apn 75w 71 Ann 721277 R0 | 4

mooIp 2apn X2 ano 1 YW Anan RN XN™M2ATRYM | 5

TR X772 NN 0037 P 5w a1 NN XN™2P RNMI2T ROV | 6
hblrey

PRI 112 120K a1 NN XN™Mp XKN™M2TRDD | 7
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| moowp Yapn X2 | ono 1 Yw man | X0 an7Rnma | 8 |

3) X"wann

a) A" in fact says that for this 7x7 18 the mawn can deal with ano 1 5w anan where
79P7% 7 IR K

b) but the x*wp of mooin still stands on why the &n»92 of 7721 27 °1n says that the
mawn can deal only with 1> 5w nr anan

4) Note for purposes of the next p7n that the following table applies for the anx7 87 who
says that moop apn &7 in line 3 applies even if 79pn? % Ak XL

IR LR SR LY aRe-P e ARy meewn-neeeh s | 1
1

TMRT2 MDD Dapn 0w T a0 mawnb Tarancan | 2
79pn?

7R MODIP 22PN R? ono 10 YW Ann AT NI R | 3

N972 19BR RT INR
opPRY Y MR

79pn? MR MO0 7apn 775w T N0 721 29°IN7 R0 | 4

mooIp 2apn K> ano 1 YW anan RN™Ap XRNMMIATRY™M | 5

IR K972 MANA 0PI 1 0w AT NN RN>7P RN™I27RNYXN | 6
hblray

¥ 1210 17°0K it el XN>np RN™I27 800 | 7

moop 73pn X7 ano 1 YW nvan X™ "M InTRN™I2 | 8

220 X7 WX TN A" TR T 270 QNnT X210

PIPTY WY BoY "D RMT M upl RBR 2K R'"aweh awp bapn XD KR'"m a7l
K7 ORAR D''R 2057 17''50 OURI RN 21957 1950 ONYIR PR RDT 1190 22T
15277 RI7 927 PRI ORAN TWPAT NT20 99 197 DWW ANNRR DA TDT 2w 1 wpn
DY RN DaR 17 5w anank nvam Pa xveh HH 7Y KD IRTY 9LT wpnanT &'
Bapn K97 NY2M2 95Y K120 ROOR 2 AR RIT RV 77 579157 NIAK MINW PANRT 27
799 7T NIRRT VP ORNBR PaPR IRT N1 1N DR anana 7R 2''RT DR TR RWwp

TH'"PY DaPn R M I DWW ANTRa 19IDRT MDY RN12T upIn®

1) First nnipn

i) Refer back to 'x P21 and the beginning of 'a p5r1 for the stage in the x°x10
before the &3 mentioned 721 21 °1n and still held that the miwn says 2apn
moop for ano 1 Sw Ann

Mmoo 73pm 719° 1912 ano 1™ Hw Ann qwn |1
mooIp 2apm1 9 1710 ano 1 YW AN XN™np XNP2T XYM | 2
777 MANA 03T 1 0w AT NN RN>P RNM27 RNV | 3
Nom ™
P 1210 12°0K niatamra) XN>np XN™I27 800 | 4
Moo 2apn R 7197 1913 ano P YW nvan RO INTRNTIA | S
i) Where

(1) o"awn relied on the 120 of *Xp oKX »nwH n°an to explain why the wpn
in 2 por assumed that x> 1 " °1n says its 17 that mooyp %apn &% only for
nan even though ®»n ' °1n holds the same 177 applies to ano Ana» — and
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this is why the ywpn could ask that the mawn and xn»np Xn*927 X that
say mooip 2apn for ano Anan are M°no to X1 ' 01N

(2) And the & nx answered that Ry X7 717 89127 n°an *1kw and that’s why X?
mooyp 2apn while for ano 1 Sw ann the mawn in fact holds that %apn
moop

2) Second TP

a) Now return to the current stage of the x*x10 where at the end of 'x pon we
established the following table for the =nx7 18 (in the Xna%o of ®nx 27 and x127)
who holds that in line 3 for ano anan the 17 is mooIp 2apn X5 even if % R &Y

balplai

IR LR SR LY aRe-P e ARy meewn-neeeh s | 1

1
AR MO0 Papn 50 AT ann Jawn? aralan | 2

hblray
7R MODIP 22PN K? ono 10 YW Ann AT R | 3

N972 199BR RT INR

mopn Y N
79pnR? TNR2 Moo 7apn 79w T 00 AT ANTRDD | 4
mooIp 2apn XY ano P YWY AN XN™0P RN™M2TRYM | 5
TR K772 MR 0037 P ™ 5w a1 ann XN™0P RDMI2T ROV | 6

hblray
Y7 1210 17°0X iatamra) XN>np XN™27 800 | 7
moop 7apn X7 ano 7 YW nvan X' InT RN | 8

3) mooin

a) Xwp — For this anxT 87 the 17 for n°an that moop 2apn X7 is the same as for anan
ono 1 YW — why does &»n " °1n say its 17 of moop Hapn &% only for noan

b) vyvn of owaon v

i) X1 "0 says its 17 only for n°an to teach the xnman that mooip Hapn X2 even
though >Xp n%R> »nw5 noan

4) R"wamn
a) Nwp

i) Why didn’t >w1on v need to rely on the X120 of >kp n%x> »>nw? noan at the
earlier stage of the x>0 as just explained for o"awA

b) v

i) owoon w hold that the ywpn in 'a p%r held that even without the X120 of nhan
R INPR? nw? there’s no reason to be p7nn between ano nvan and ano ann
and that ®X>n "1 °1n in fact intended its 1°7 for both — the ywpn therefore could
say the mwn is a 77°no to X*n " °an even without the X120 of N%X% »nw> nvan
NP

i) But
(1) once the x 3 answered that X377 &m0 71 2197 ond n°an *akw and that’s why

for noan the 17 is moop %apn &2 while for ano anan the 127 (before 21 °1n
7°21) IS Moo 2apn

20



(2) then — after the & na for 7221 21 °1n says the 7awn in fact holds for ano Anan
that mooIp %2pn RS and the X7 3%n mentioned earlier holds that the 17 for
ano Ann applies in all cases even if 9pn% % R X7 — it becomes a xowp
why %11 "1 °1n says moop 2apn &7 only for nan when it should have
preferred to teach mooyp %apn &% for ono ann to set out the xnan that &
moop Papn even though anan is not Xnn 7m 891

iii) And that’s why o°wnon @~ at this point (and only at this point) need to rely on
the X120 that it’s a greater Xma7 for X>>11 "3 °1n to teach that mooyp Sapn K> for
nran than for ono anan because *xp 7°n “>nw% n°an and we might have thought
this is reason enough to hold for n>an that mooip Sapn

I'Th X0 2" T 0"awn 'a p'7n qnanT X210

"D 1D PPYA TRIDT 2R 1D XTI 719 01N KD R "0 AYRT 7' 72 a'awaea
(3°¥2) "R K97 77 010 KD 7'wn) R gopna 790 [192] (PPR) a9t o By
SR 7T RDT 23 5V N IOPRR 91 MR N7 OR DaN [I5PRa A1 IMR XYY 190 [1907]
BopH answ 2" 7212 327 PIMKRY AR AT P07 'R 0 10 NIT ORTY 720 Y2
7 ORT 217 10 TR 0 IR 1T ONNR 72T 2172 NINp KD 7''wRT DTS no oM

22''N7Y IO A1 MIRT 90 TUaT 272 0Innh BT IWOAT PRI 912 K17 Ol

1) nnpn— we established in 'a pon that the x9°0 of 7521 27 °an in line 4 for 1> 5w ar ann
that "mooIp 22pm 19 121w 1 17 1N applies only if fopn% % ar — but if % MR XY
nopn? the 127 of the Xn»np ’n»127 Xny>xn in line 6 applies that Mana 22n17 P2 1% 1N

2) o"awnat o Hw AT ann Aty

a) The xn»™np ®n>27 89°0 that says for a1 anan that "wan ynin 1210 19°0x" applies
only 7opn% ™% anxk X272 as in line 7 — it doesn’t apply also 19pn? *% nRa as is
proposed in line 9

b) Here’s why
i) 72127 °1n doesn’t set out the 17 for a1 Ann

ii) if line 7 is correct that for nr qnan if opn% % anax the 197 is Hapn1 790 1 1% 1N
moop we understand why 7221 27 °1n doesn’t need to mention the 17 in line 7
— namely because the 1>7 is the same as the 7 in line 4 for > 5w nr ann (for
the reason that nopn implies 1 % in line 7 the same as the actual words of
" 5w" in line 4)

iii) but if line 9 is correct that for 1 ann if 7opn? "2 K the 17 is Y7 1910 12%0K
W — it’s a X'wp why 7°21 21 °1n doesn’t mention the 1°7 for 77 Anan in line 9
to teach that the 177 for 131 qnn is different than the 17 for > 5w 31 qanan in line
4
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3)

4)

5)

moowp Lapm 19 ano 10 YW Ann mwn | 1

moop Sapm DY ™ 5w arann mwn? a1 277N
79PNn7 MR
mooIp 2apn X1 A9 ono 1 5w Ann AT ANTRYM | 3

9 MRTA RPYT MK T
129DR R T 719pRY
79pn% H nR ’H72

moop Yapm1 oY 0w T a0 AT ANTRDD | 4
OPRY MR
mooIp 2apn X1 A9 ano P YWY Ann XN™HP RNM2TRYM | 5

M D MR X972 MR RN
"5 AR MR

TR X972 MAna N0n37 1 0w T a0 RN P RN™I27RNYRA | 6
nopnh
RPY7 71T 1910 17°0K a1 ann XN™HP XKN™M2TRDD | 7

Dan oPRY MR K972
71D 7 IepRY N N2

neep Yapm
mooIp 2apn XY 1797 7 ano 7 YW nvan X7 'R |8
WINT PRIT 91D 9IBR] [/ nnan) No7 2"awn noowT | 9
[mopnb 'Y 9nRT2 BN 7195 TnImb

Twnn of the X nax as explained by o"awA

a) We established in 'a p%n that there is a 2K7 187 (either &nX 27 or X1°27) who says
in line 3 for ano 1 W anan that Mmoo Sapn X even if 7opn% 9 R KXY

b) noxw for that anxT 181

i) we’ve established that — in line 4 for > 5w a1 Ann — 7221 21 °an deals only with
nopn? % R — doesn’t this suggest that in line 3 7°ar 27 °1n also deals only
with 9pnb % nR

C) mawn

i) The nx7 181 whose v w we’re discussing holds that in line 4 7°21 27 °1n
actually deals with nopn% % 2k 82 as well as with 7opn% % 2k because this
is the 7%2nn of 721 21 10

(1) for ano 1> 5w Ann in line 3 the 17 is Mooy apn &7 even if 5 xR RS
hbalplali

(2) but for > 5w ar anan

(@) if 7opnh % anx the 127 is as in line 4 that the 151 gives n19° 1915w 1> and
is Moo 22pn

(b) and if 7opn? % Tk &Y the 177 is that the 15w gives niana qonan 1 as set
out in line 6 in the xny>xn of Xn>»np ’N*>12

n"aw"

a) 198w — why in fact doesn’t 7°ar 21 °1n itself set out the 7 in line 6 for 5w ar anan
17> where 7opn? % R &L

b) mawn — [4 awa] 10 YW A AN R1T 12 MIMRY 7021 27910 KRY2 790 A 07 own”
"79pn% MY AR ROR 792 1107 PR

X"wAnn
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a) Although o"awn might be read to mean that 7°ar 21 *1n sets out only cases where
both 79p1% % K and 1792 1210w 117 Pani — actually o"awA accepts that 7°ar 21 °1n
would have set out a case where ;19pn% % K even if the 17 were that the 2om
doesn’t give 79° 100 1

b) because we’ve established for o"aw that if for 71 ann the 7 were as in line 9
(that 37377 =1 1910 19°0R even if 79pn? % AnK) 7°ar 21 °1n would teach the 17 for
nopn? % ik separately for v qnan as proposed for line 9 as well as for 1> ann
ano in line 3 and for 1 5w ar ann in line 4

X T
INni? 'Yn'n oX XIna
AT A AL L WPY TINAYVT N2 "D B ARY RN [N 77y 2 07

77N A" TN

%R KD 3770 "9 ER 2"'YT B''op "1 192 1Mk 9190 i o p7ian T2 'on

1)

2)

3)
4)

5)

1H'PY RMWRTT 2% TRWHW D2 97 ORTY N RY 2''RT RO17 M2 RDM2
First 770 — the mwow of jam

a) 1™ that’s about to become v first changes its 1 from &nn to &%n but for three
days afterwards its oyv is still Xnam and it has a 17 of & nn

NN*72

a) If a person was previously p712 a n°an and found that its contents were 1°> — the 1>7
is that the contents count as 1 *x71 for three days after the 7>°>72 and 1> poo
afterwards

n"aw" — the word "p712" means vyn 1k Tnw and was oy a Xann ovw
mooin as explained by x"wann

a) Nwp —based on the mnp: the 17 of 1 *x71 should apply for three days even if the
P72 was m°In a X i without making any mnovv at all

R"wIN
a) ToRw

i)  Why does m»oin assume that it’s only a X7 1°7 (and not a X5n 7)) at 72
that can prove that there’s a & n 17 °87 for three days after np>7a

b) nawn

i) If X5 "1 there’s no X7 that the 1 is X nn for three days because it’s
possible that at the time of the 1?72 the i1 had already been x>r1 for before
the np>72 so that the > would have a X% 17 beginning earlier than three days
after the 3p>72
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NNnyoL 'Xn n"T1Tnh
DR H'oY RNAT RAVYY SN T TOURDY 11D RPN ORI B '

o' 'a 7D "IN 'R 77N nxMnal Tt dINAT X110

TAPRY BoY 1D 2 KT 01T PP 1D K27 MRT BNy "D 2w A b ''Ta
TOPRA TIRT M IND {AN2 PR MR} KD 10T DA npwT PP v pwnT
R RD7) 7aP97D 1R 75PR2 'Inn 2"V ANMT 29 DT IPIRT YT A PR R

21977 971 '3 IMRD 2''RT IDPR MIVR

1) nntpn

om0 39D 27 MR — XM 172ANY Y N%AN WA — 1707 R0
IR 217 AR IRV — [RY? NIV 72K IRON 10M MW DUNWRI
NPANR2 27N

TX A7 v
MWD 1M — PR 1A T 10M R
MY ApR 71097 (7w 992} yoummm 117w Y170 OXY XDD

X7 0D 10M — :T¥ A72 7T KD R1IT 2001 M .A¥ A7 RN
X7 19 OK ROR MWD 1K 701 HW 1°922 DaR — 173 1PHIT I Hw o2
77 SY2OR RY 0 21972 97 173 10T 10T 23T IopnD 11 DY IR
251 1971 W% YR Y W PRt 112 DY MR OR 10 PRY a1 MwD

pihlaty!

P17 D°IPIP2 WD 1INT RWI? RAPIR? KI1IT 12 901 "7 PmT Ok
P17 2 R K27 NAnn 1001 1217 20922 19908 Rnp17— (173 1°997Y)
MWL T2 YR RY YD 1912 ¥ 1opnY

TIVD 79I — A0 N2 KM 27 MAKRT A0 12 X1 27T RV X A7 XX
273 ST R9TAT

2) o"awn
a) noRw

i) Why is the 17 here at .1x 7 for 21 that the o2 is 211 different from the 17 in
the mawn on :1¥ 77 that the 251 is 7wd

b) n2wn for the second 727n of o"awn (the first 77 of o"aw isn’t relevant to this
R"wAn)

i) it takes three days for 1 to be y>»nn unless there are o°%5 that accelerate the
nxonn — it follows that if 1> is o°»° '3 7302 yonann after 77°on and the ovho are Hw
1o it must be that either 73 72117 192 or the 1 was already 5p%pna at the
time of the 77°on and the 7702 was a myv npn

ii) Now
(1) in the 7awn on :1¥ 77 the 7w isn’t 2°°11 even o°»° '3 7In2 because (as

explained on :nx 77 by X137 "2 201 ) it deals with np127 1°25 — and the
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3)

4)

5)

6)

7o is W that the 1 wasn’t 2p%pn1 at the time of the 7701 and instead
the o°%> of the % caused the 55

(2) while the x>»0 here deals with 15127 1993
maon
a) Nwp to 0"awn

i) In the x>»0 here why is the 2>r 70w if oo '3 70 yona in 7217 125 — the oM
ought to be v that his 1> wasn’t 5P21P1 so there was no myw np» and
although the o°%5 of the 721 caused the 91957 still oo '3 7w WS 72 W2R X"

b) yy°n of mooin for o"awn

i) The x>0 here deals with 25w w 15 that are known to be 21w and couldn’t
have caused the xnn — it follows that the 1> must have been 5p%pn1 from the
start and the 77°on was a mwvv npn so that a mavw of »™aw? 7% XvaR X isn’t
relevant

Twnn of the X723 at .nx a7

a) if the mwn didn’t deal with 7opn % 7k we could say that the xw»- deals with
1017 293 as well as with np127 2°%5 and the 12 is 7w because 1w 7% *vaR K7

b) but the x5°0 where the 25w is 21 if yonrn 1w ¥17°2 proves that the miwn deals
with 7opn% % Wk (" N2 aopn MY nrTa RY") because otherwise even 1117 1902
the 721 would be 71v9 based on "w% 7% w2k R

X"wann
a) Nwp

i) Based on the y17°n of mpon for o"awn — why doesn’t the & na at .nx 77 say
that the x9°0 can deal with where "2 X177 9957 jPpaw 10" and s 70 youns
o and as a result the 121 is 221 for 7217 195 even if 7opn? 2 AR RS —
because it must be that 1x X% 9> and that the 1> was p%pn1 from the start
and there is a myuv npn that makes irrelevant the mavv of »1wS 9% *vaR &>

b) v

i) We’ll establish in 'x p7r that moon at 7o 3"7 at .nx 77 holds that the mawn
there must deal with 2°»° '3 R y>2n7 — so it can’t be that the 1> was %p%pn1
from the start — and that’s why the x°x10 there must deal with 2317 %5 where
it’s not 20 X7 M7 222w 7 and the 7012 is 271 because 1A 1995 and because
79pPn2 % K the 701 can’t respond that »1ws 72 “y2oK X9

i) Contrast the &0 here that says that it deals only with " 730 y*»ni7 so that the
X°20 can’t deal with nopnh % anx (that would result in the 11 being 2>n even
if yonnn after o0 ' in 7017 1°95) and instead the 2vn is based on myv npn per
the 7% of moon for o"awA that the x>0 deals with where jpipnw v 7"

"0 RIT DMT

Twnn of mpoIn
a) nvw that mooin says is "aw nn N
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i) %3 can’t cause ¥ann within three days but can cause 781 in more than
three days

il) the x>»0 here deals with where o°»> 's 710 o and the 25w is 2 regardless
of whose 0°%5 were used because 0°7> couldn’t have caused the 7%»n:7 and it
must be that the 1> was %p%pn1 at the time of the npn and the 77°on was a npn
myv

iii) The mawn there deals with o> ' anx> yonna — it follows that

(1) There is no myv npn because it can’t be that the 1> was %p%pn1 from the
start

(2) mpY27 190 can be yonnn — this explains why the mawn as understood by '
X121 12 >0 says that for np127 1°95 the 251 has no nanx

(3) and 7517 1" can be yonin as well — and X1an 2901 ' says the 2o is
21 where 719p1n% % R 117 and the 717 can’t say "™nw? 72 2R K7

X 7T
INX XML 2" TN A 7N axmnni |t DImaT Xlo

12972 PRARNIR 12 '3 MNRD RITW 190 372007 1R "2 DR 7''7a [2 TRy 1 nT]
M1 777 IDPRY TR RYT RO DA 7opnk B''RT RPITY 02T 902 1T RO "o
1H''RY TRY TR SY2OR KD 92177 B'RT 21 AR NIRNR T A INRDT 290 hRw

1) 7P — we established in 'R pon that PXmw in our X210 (that deals with ' 7in yonnn
o°n°) disagrees with 27 and holds that the 23w is 15

2) mooin — X0 of an 130

a) “xmw holds that the 221 is 1wo because the 15 is 1w that the 1> was %p%pn1 by
the y1wv1 of the np1»

b) Now — the v of yv1 applies only to 1 that’s 2o '3 730 yonnn — it follows that
SR can agree with x1°11 12201 " who (for the reasons explained in '} pon for
"aw»nn ann2") holds that where oo '3 anxS yonn the 90w is 15m 5w 1931 27 if
mopn? % Tk and the mavy of »Miaw® 72 "2 R &2 doesn’t apply

3) X"wann

a) We established for moon in 'k pon that 27 deals with 7opn? ™% R X2 so it’s a
muws that 5Xmw in his npYonn with 29 also deals with 79pn% % 9nR X

b) It follows that although 21 and xyaw are P2 nn if '3 70 yoann —if om0 '3 xS yoann
both xww and 21 hold that the 221 is 1vd because he can be w10 7% "vax X?"
"977W5 Since 1opn? Y R X

(-nx qT2a) XA™791 'A 27 AXMNAL ' DIMAT XA

7''2 997 v R2WHT "D ORI RUMAM NID XM ' RAHDY XA [R 7MY IR nT]
BOpH 'DIN5T 121D 1221 PR 'OINT RIS TS AT PRI RN20 PRT A TN MIMR
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QT3 JPART PRT 1D 2WOINR INVT 1AND W'D 23 A MR MR 12 97 n''ph
AR Rl
1) mnpn

a) We established in 'x pon that the X na at .nx 77 assumes that X3°17 "2 °01 " — who
holds that the 2512 is 221 5w 1951 21 if the 9pn% 12 Tk P17 — disagrees with 29
701 72 X1 who says the 251 is 7wo because oo T X9

2) R"wann
a) Nwp

i) Maybe both X211 12 °0v "3 and 7o 12 &1 27 follow "2 7271 of a"aw as
explained in 'R p%n that o°%> can be y>nnn even o°»° '3 710 and that 1 can be
op%pna from the start only if oo»° 'x 70 yonnn

(1) x3m "2 001 ' says for the mawn at ;13 77 that

(@) "2 Hw 1932 the 70w is 2»n for 1 that was '3 730 yonnia because he
deals with where "210 X177 79117 JP3paw 12y 7" and it must be that the 1
was 2popn1 from the start and there is a v npn that makes irrelevant
the mavw of »1ws 7% >var XY even if 7opnh 7 nR KXY

(b) the mwn that says the 15w is o deals with 127 1795 where the 2o
is 1 that w3 127 192

(2) While noy 72 x»°n1 21 deals with o°n° 's 9nR> y i so that there is no 7vw
of nwv npn based on 7php from the start — and the 7avw of 7% *vaR &>
"> applies because oY 72 X*°11 27 also deals with where ™% =k &7
alplali

b) First y1°n

i) We established in 'k p%r that oo says it’s "aw»nn n12" that 0°%3 aren’t
"\ 70 yoann —and it follows that if x2°am "2 >0y " deals with ' 70 yonnn he
would have said that the 721 is 2>n even 1177 1922 based on v npn
because the > must have been Yp%pn1 from the start at the time of the 77°n

c) Second y1n

i) In'ap5n we established also for an 11727 that 17117 "2 °01 ' deals only with
"\ NRY yonnn

NN 72 a"T1 nivoin

72 "2 Y 2" A N7 AR VTT 29 IR AT NIRTT 11D BIRT 21 "o KA B ' Ta
J9'"mY AN 'DIN2 INRIN

ANl A" T nIvoIin

12 IR PRI XP2 DR 790 RWIST "D P''D 102 1INT WP "D 700 ANty '
T my BT AT I 'R By

27



X T

AN 7ax "1 0"awn ‘X 7N TANT X210

R2Y91 %o "12 3779 N9 R 3329 K77 112 N DA 7''72 2" awnna [R TRy 1R nT]
S''RT Y'"D BOYBT 31277 TR STOR N2 P2 INTR 9752 02 700 NN KRNI VT b
972 91 M 957 1IDRY N2 MRP RIMTR IRD V' RITT 7791957 31291 "7 N0 RN

19'"PY 10T 972 AN KD N2 RIVTH IR NORT 31277 INTR

1) xp»2of "7072% o naw”

— X7 P°7 19AT 27D RM2A 3OV TN DONRD — 2002 17N 0 0w
X177 217 17272 D1 Donw 11OV 7122 2ORT 11270

2) XM

372 R¥M2 72K —RNTID INTA 2701 N RNXTA 939D DOIART 11271 2R
¥"9% 712977 N7 2797 N RORTAY — 997w T2 2% 107 397 TR
DT 77D K712 702 YT

797 NP 7972 797 N1 7972 N7 779 797125
7277 107 XN N7
1937 >0 K2 1937 15 XKM2 Do oo
1937 >0 K2 oo Do 0 INRT 1320

3) mwn of "wynh k" as explained by o"awn

5"0 A7 " WwYnn o7 90 AT T 1327 0T 07D R¥AY TR
Wwyna 207

4) 1"awA — the &n»92 of 71572 P *w where X2y *715 agree that 107 >75 X¥» counts as
o and 907w 7127 — is consistent with the wyn? TannT mawn — because 177 70 X3
counts Rav7» as o for both 77170 "7 1327 and 7730 ' — and it’s only X9 that ™
77 says wyna 2n while for 7572 there is no X min

NTA 27D WYRY 797 NP 7972° 797 7N 7972 NN >72 71973%
7377 7R XN 1NN
19377 979 XM 1937 79 X712 Lanw jaRlghs
19377 979 XM Sanw Lanw IRT 1320
U bome 770 17 1320
N7 2wn 2vn Yo T A

5) Twnn of the xma
a) Nwp

i) Since the mawn of qwynH Tmnn says that 1327 and 7770 " are Py for 70 Xyn
NTA — it’s ynwn that XnHy 2910 agree for X019 177 >731 N1 ’¥a that wyna 20

28



797 N Wwynb ANTH 73 WYRD 5797 7N 1972 797 NP 1072 N7 70 7910
XN N7 7277 N7 XND 1N
19377 7D X2 19377 779 XM2 Sonw jayplghs
19377 7D X2 Sonw Sonw QMRT 7327
2% RI‘h) Lo 77 7 130
arn X1 W 270 Lo hithie

i) How is this consistent with the xn>92 of 7072% 1> »nw that teaches that 1129

o nxT hold that xn19 10771 >797 AN counts as 2 and 927w 1n372

b) v

i) In fact the np1omn applies also for xn1 1077 721 70 as in the following table
—and it’s 777 "7 170 Y77 070 that the mawn sets out the npYonn where Xxn

N7 573
797 N WY NTA 73 WY 721 2N 79727 791 N 7197127 T 72 19120
XNMD 1N 7217117 XNMD N7

1937 10 RT3 1937 M0 R M2 oo [l
1937 715 XN k=hi 937w 2°IMNT 1320

e nwd Lo a7 M7 110

n XV W 20 bomw EATE

6) o"awn

a) Nwp to the xwp of the X
i) Maybe 1121 say that Xxn719 1077 >791 0 is 21 for wyn only as a X
b) v n

i) If 1327 were 2o for XN 10772 797 N on wvn — they’d be nnn for 7
177 as well and there’d be no np1onn at all between 1127 and 7700

7) X"wann
a) Nwp
i) Maybe
(1) 7750 " and 577 "7 1327 both hold there’s no X372 av for n7n >72

(2) 77 " holds that both 177 *75 and ®n719 1077 >721 0 are 2»n for Ywyn as
axmn

(3) 777> "7 1327 say RN INTA 271 N S X171 217 and there’s no &M for
wyn at all

(4) This 7251 has the advantage that neither anx7 18 holds that there’s a X
only for Xn19 177 >71n AN

b) y»n
i) The 797 would result in directly opposite n1120
(1) 775 " who’s 2 nann for 1nTn 272 says for 1nTx >7on Ny there’s no X171 217

(2) While 77> "7 1321 who are 5> for 1n7in »72 say for wan7n 721 201 that
there’s a X172 211
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NN v o "1 0"awn 2 p'n TnT Xlo

57D REMAY 22977 W KA N1NRIT 11D MR 77721 "D 1 b avnw 7''a
19 9NTT N2 WTP NORT DOYDT 2N MMTT R MR "0 KT DOy N N
"X H''oY 2MIMINT 32727 12 29907% 1D MW7 Ay 1RR 72 7''72 1P DaR Mmns

B!y [2''90] 2277 2R N2 Y9BR MR

1) First anTpn — xn>02 of 7072% 1 »mw that was discussed in ' pon

727 NP 10725 751 NP 1197127 N7 72 19120
7277 N7 XN119 17
D37 779 X M2 D37 779 X M2 537w kst
D37 779 X M2 Do7w 537w O N7 1120

2) Second 7n7p — 8002 of "wyn Hw o

IR PRA ' — NOX MW TAM PWRI TAN — DTANY AN YW 2w
Oyv M2 MOR WOV AR

TN AR MR PRA M — MOKR PWRI TAN — DTN NI WYH YW DY
avyy 112 MOKN 1w

QYD N2 °¥°27 AR MR PRI M — NOKR WO AR WIPR YW 2w
3) o"awn on the xn>>1a of Wwyn Hw onw

a) The xn»71 of qwyn Hw o waw deals with 1n7n >70 X¥n — the varying o°1°7 for mmnn
and “wyn and wps are 11277 M

4) X"wan
a) Here’s why o"awn needs to say that the xn»92 deals with 1077 >72 X¥n

i) the xn»1a sets out the v w of 2°kn ' as well as the mv w of 13127 so it must be
also for a°xn "1 that the xn>»1a deals with 1312977 n1an and that wyn 0
counts X171 as o

ii) " mw" is the same as 7an and we’ve established in '} pom that 9°8n "y who is
2R holds in the xn>12 of 7272% 1> nw that Xn719 1077 9797 AN counts X7
as 1 and 1937 10272

iii) it follows that the xn>>22 here needs to deal with 1n7n >72 R¥»
5) Twnn of the X na — wyn Hw PwK 70 counts as 1 for axmw won
6) o"awn — The &7mx on won is based on a 7 and is consistent with 2°xi 17 7329
7) Twnn of X"wamn

a) o"awn prefers to say that the xnax follows xR 17 1327 because the 11397 follows
9°&n "7 1327 — and (since °X» 17 1321 hold that 9onw o932 also for T 7o A0
XnT9) it follows that o"awn can say that the rule for "w>:7 is a X for >7om ANy
Xno 177 as well as for i »70 Xen

30



Twyn 7w o 2" T NISoIN ‘A 27n TNANT X'AIO

B "D 1R WP 21 10 PRY RT R "1 e b avmne 1''72 'on
191 IR 1R RS RITIP 12 PR 0D DY ORI "7 RNRY XADD KRN MIRT BN
YT Y21 WPMRAT RADDY A RDNRY A KRR MOKRT PR 10 RMO1 KD DaN N2

1)

2)

3)

4)

TH'"'RY YA KDY WNRRR WYRa 297 1320 R
TP — Wwynb TannT mawn that was discussed in part in 'k pon

TR N WyRd 797 NV YR N7 T2 WYL
77297 NI RNTID 1NN
N17R 2Mn Rl“b) Rl“b] 7120

a) "N >722" Means XNoN RNXY XN7N 817 — "RNTD 10T 27O NP Means Xnon Xna
Ra991 RNPN XORY — 77277 1077 9797 0" Means avaIR RNKY XN7N XA0

b) Note that for Xxnm1 177 >721 0 there is a Mo and no & while for >7on A0y
7297 3077 there is a X7 2

Part of the xn>2 of “wyn HYw o nw that was discussed in 'a P

a) 1327 hold & m7 7¥n that wrn 7an of »1w wyn is Mok and that for wipn even 7an
WOV IS MOR

moaoIn
a) Nwp

i) If the xn>12 of qwyn Hw 0w deals with 1T >752 or with XN 1071 *71 AN
— then even awyn Sw WK 70 ought to be anwa based on the mawn of Tann
Twyn? that says "1ws"

i) And if the xn>>1a deals with 712777 1077 727 70y then even awyn Hw *¥°27 70
ought to be x1>7» mox based on the mawn of awyn 7ann that for T 701 Ny
7277 isn’t PP between nwx 7an and any further mn

b) v n

i) The xn>n2 of 2wyn Yw 0w deals with where the n has only x7°p and no
7 avv altogether and still 1327 are nma for wapn until »w>%w and for awyn» for
nwR — while the mawn of awynb 7ann deals with where there is a 1> avw

R"wm — K02 of the yion of mpoin

a) NMoOIN can’t mean that the Xn*92 of wyn Sw o™ nw (where there is no 1 avw)
deals with Xn719 1072 >7o1 2N — since 1127 in the mawn of awynh Tann aren’t nnn
for xn=10 1772 >701 AN even where there is a 1 ayv and even for pwxA 0

b) Instead msoin must mean that the xn»92 of awyn Yw o nw (where there is no avv
1) that deals with 17277 1077 >79% 20y — and 1327 are ann for Awyn on NWRY TN
and for w1p7 until >w>%w 0 — but in the mawn of “wynb 7anm where there is a avw
1 they hold that ®1>7» there is a "wy»n 211 even for 31 *¥°27 70
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'7'"n ™Tna 2"

23 2R Y5UAT 3190 3P "D PR 2R 12PN 11907 "D YRR TR 7''72
TANI2 RPIRD NOR PIOR RDT IRRD UMY 2PRR NIITD TIRIARY P2 M1 2%
TODTD WMIARWAR RIAD WD MM D BIPWT 3190 2MRwa DY 2% YU RY 1ORR

TRy RIT2 ATAWART 2ORW 12 1IDR

1) mnTpa

a) 0°9> o’ means o' other than oonw *»

b) oonwa on are axnwL *won only if yrawnx

c) 1 and oo o°n are XMWY MWwon even if MPaWnR RS
2) X on Tman

a) T7anis axmwb won if it has a P> 17 — 7an isn’t axawb won if it has a oon P7
3) X

a) the x n°n deals with 7an made with o°nwa °n — it follows that if the 7an hasa 7
o°n it’s Pwon only if onwa »? mrawny and if it has a 1 127 it’s won even if RS
D°RW3 MY I1AWIR

b) xwp — 7an made with o w3 " should be > won because oonws n? yawnR by
pouring the o »wa *» into the >%> that holds the o nw

c) 11°n— the Xm°n deals with v7°&n 79w1 — meaning the oonwa on fell directly on the
o nw with which the a0 is made

4) nmooin as explained by X"wAn

a) If »oxn 77w the xwn can also deal with 09> oo because o°° o that fall
directly on o>nw become 5va to the o> nw and are 2°won only if yirawny or if the
resulting 7mn has a 1 17

5) X"wann
a) noRw
i)  Why does mooin assume that o°o° o are 02 to o> nw only if ¥ooxn 7w
b) nawn

i) The act of pouring o°° o> unto oW is 2°wnn the o°o° o°» and avoids their
becoming %va — the same as the X3 assumed that pouring o ws °n into o> nw
IS 2°Wnn even o°nwi °n
(1]
Nn'"7'x 2" TN

1aNSw 2" WMDY oY "2 A TDa 1RY 10NaR TR BT 2T'RT "D RN
B2 DINA PIYD KON 77''D2 PR WITR T2 PRAY KRN0 PRT DOR RY PonanT

5Py apb 2" awn
1) xma
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1121777 523 DY 00 MR 10 DY ROR 21T WITP 02NN PR 27 0K
DINON DIWN — Y7 I VIWA? — RN 0N
2) 0"awnon 'a My at "vwn? XOR "7

a) For own 1 there’s a p172°n between the 71572 197 and the w1 1p 17 — namely the 7572
for oIxn 1> is 19377 *79 X2 but it’s not WIT°PH MR

b) For other n2» there’s no P21 — if their 1272 is 19377 *79 X2 they’re WITP? W
and if their 7572 is 237w they’re w1777 7109

3) mooin
a) 7oRw

i) Does the fact the X3 doesn’t say that 27 means wian 1 vwn? prove that 1»
Swhan is WPk w3 and 1937 10 X2 1Y PaNan

b) n2wn as explained by X"wamn

i) No —it’s possible that 22127 1 is 2onw 1272 (as held by *"wn and w"9) and is
in fact v17°p% 9109 — and the xna prefers to apply the vyn to P> whose 7072 is
DA 219 XM

T 7T
wIyn%? 'x n"Tn"avwn

977 B'"'op "2 19IDRT 1292 By "1 wIpnb ORY 71''72 2"awana [2 T X 7]
N7 3'"';792 WDk 72 KD 9291 3 "7 RDAWD "ax DR AR Naana b paop
19"y 5D PIDDT R WD WIRN

yIT OXI "N 'N 270 " DIMAT X1lo

"1 "IN VAR DR ORD KDWY N0 ART V'R TR 1D 1w »I7° ary 7''7a 'on
VORI AR DRR NI TN IRYRTR ORTY ROTT A DT IR 1T 2T T B oy
T INN7 2nT DaR 1NN D IR RDR DR DA Y9 NNR IR PRY MY npn '
NYAMT I TAR Y9 N RYT 2'OPY 0T N2 PITRIY NAMR TR NOANN 2% 'Y

1H'"PY N3N0 MY 2 P R

1) mwn
a) There are 0°193% where a 72 is 2n if he sells 1 that is later ynrina
2) Xy in qwinrRat .o a7

a)  R°TOXR RO OR TN 79PN OR XINAT RNOINR N7 '7 7270 51207 5w workh B w
Uahi7ihl

b) The wn is that the npn doesn’t count as a X177 by the np1» for which the
agreement of 79pn >k by 251 counts as n°an

3) wwp
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a) What xma does the x93 in w1 7R teach that we don’t already know from the
mwn here

4) R"wan
a) y1nto the xwp of mooin
i) It’s a muws that a myv npn doesn’t count as a IR
i) now
(1) The X3 in w1 17rR by its M "RanT Xneank °1r "7 790" implies that the

n”12 bought one of several n1»an owned by the 25w and that mopn ok
Tmwna means that the 251 needs to give the np1> a replacement &nvan
X7nn7 that’s 20 1 — it follows that the nipn isn’t quite a myw npn and that’s

why the x7n3 there needs to teach the whn that still — for a reason not
relevant here — the case doesn’t count as a X177

(2) In the nawn here the 151 doesn’t need to give the 1> a replacement
X7nn7 Xn°an — the 151 needs only to return the money that the 1> paid —
that’s why the case counts as a pure myu np»n and it’s not a w17°n that
there’s no aspect of x93

i vt TUNa A P70t DImMAT XIo

QN7 D A1 1T RO KDY 'O 19 RIN22 W7 "D apn OR 10 MaRT '™ 7''Na
SATY DY TR Bapn 7' Y npIT Y902 R ROR RD7 90 2PNAR INT2 MR K97
5377 PR RY 1D RNIINAR 917 T INNT {790 n9mY 179 RO RDT RAYY 11957} noaab

1H'"PY 21T 1952 RITR KON

1) Twnn of mooin — y17on to the xowp of Mmoo in 'k Pon

a) an7pn — the more that a transaction is likely to end as a myv ripn the more likely it
is that we consider as if 1n>rn v 1910 72177 that the npn was a nwvw npn from the
start so that there never was an aspect of x121

b) y1n

i)  The X7mx in qw1 K deals with X that’s 0>°pnia% "7 and not to be yonnn —
it’s 7anon that if in the end the 7 is y>ann for some outside cause the npn
doesn’t count as a myv npn from the start and it’s a XM2a1 that there’s no 7
phabh

ii) The nawn here deals with xnn that isn’t 0»pni? »IX7 even without an outside
cause — it’s "anon that if the xnr is in fact »o°xn yonnn the npn counts as a
Myv npn from the start and it’s less of a Xn121 that the npn doesn’t count as a
R

2) X"wamn
a) Xwp
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1) Why doesn’t mooin answer more simply that the X3 in qw1mrR also deals
with X 11 that by itself isn’t >pni? %1 and that the difference in the nvao is
that

(1) The xqnx there deals with 127 2°22 where w73 n127 122 and the arn of
the 25w is based on the 17192p by 10 that *nmwna nopn & — it’s a kM2 that
this 792 doesn’t count as an agreement to pay what counts as n°29

(2) While the mawn here deals with 2217 0°%5 where the avn of the 7om isn’t
based on any 122p by the 25w — it follows that there’s less of a Xman here
that there’s no n°a7 17

b) v n

i) The words Xn>anx >131 "7 1017 in w1 mK suggest that np12 with his »nr bought
1017 1995 as well as 1

NX O71
N''n " T NA'™791 XOna

See "3 P9 of the X°x10 of " nm 1 owma" at ax a7

DYIan n"Tn
DaR TR A3 LR 191 5oy 10 BIR RR PRI RXMI AR ORTIT "D awan 1''7a 'oIn
TP'TY 32 WD KD TR9% vaA IRt 2''awn
1) nwn
a) xwn as explained by the & na

i) If anp% buys 1 that was later yanni he’s 7oon if he used his own o°%3
because 17 1795

b) w90
i) Ifanom says "7 20w Ik awan " "naRyn Ty eyt g
ii) If the 70w says "% 721 IR Wwrn " = A Ty ava oy
2) o"awnon'a 7y at Rin "7 — R0 of the mawn

a) If the 7o said "ywrn" the 9o has nyanx if the 1 is yonnn before the ar at the end
of three years

3) mooin
a) Xwponawan

i) Presumably nagvi 7v 1% 7nya? 8 means that the 25w has nyanxa if the 1 is
v nann before naxy

ii) but since we’re dealing with n?1? 2°25 why can’t 121 say as in the xw1 that
b kivls)
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b) y»n

i) The nmwn means other than for ixnni for which the 251 has no nyanx — 1
awan must be »x1 to last until nxy

4) R"wan

a) the same xwp and y17°n ought to apply to w1 n 1 — but we’ve seen that o"awA for
Wi 10 says that the 25w in fact has nyanx if the 1 is yonnn before the an at the
end of three years

N T
xynwr ' A" T nivoin

Dax »'"'op "2 2R Yo AvR 2 ' By Y N0 DRYARS M 7'7a [2 Ty ne 0T
@'Y NIRRT NI WR DY YRR N7 2K npnT ' awa 230 070l

.Y 7T

nwni A" T 0"awn 'R P70 01ANDT X1AI0

"D TEYRARY WITIT URR RIT N0 DRp N7 IR 772 2 awnna [N Ty us 7]
19! mY DI PTRIY 19T KD 29217577 ODIDT PRYRAR I9ID2 O YRwn o 'y

1) xm
NAR WM DR 21797 10 MAR wamM™ R 2772 1°7 012 %2171
X7 17791 — "1°HID MR TV 1°HID MXPH NIAR WY NAIWiT 217137 710
IV 17 D12 N YW ROR NP M
2) o"awn

a) The X3 means that the o°o13 of the 022175 were o1 07w
3) X"wann

a) 10"awn emphasizes that only the oo of the 0°217> were 012 o*72w (and not the
0°510) — because the & nx discussed below deals with how without any o1 the 051>
fit into mnx 20 in the 5>°7

21Ndn 91 2T 0"awn 2 7N 0nNdT XAIo

79T 12977 RSP "D MTAR DORIPY A0 RPN RN RAPITY N0 29077 nas 7''a
DWW T N7 "D PRIAIND PUDI2 RADTY DAR 10 R1DOURD KRBT 1D 777 XD

B!
1) mmpn

a) Refer again to the p0o that n°aw: 21957 715 NYAR WM NIRRT 21757 930 Nak wem"”
"15I15 MR TV 1HID MXPn MR Wy — from which the & n3 according to o"awn
derives that o> 17 032 2°217077 AN
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2) o"awn
a) Two o371 on the 7>
i) First 790

(1) Must be that the o> were 012 27w because otherwise the distance for
each 21> individually from the end of his first 715 through his a1 and then
to the opposite end of his other 715 would have to be more than the 10 mnx
(five for each f10) taken by the o°s1> alone

ii) Second 77>

(1) Must be that the o> were 012 2> because the space available for both
0°2172 together was 20 minx and all 20 nwax were taken up by o°1> of the
0*217> since each of the four a°513 took up 5 Nk

b) The second 7%nn is correct because otherwise most of the nvwp of the xmax
(summarized below) that there was no need for a o1 wouldn’t apply — for example
%27 asks (as noted below) "1 (P2w 2172) A1 7330 ROW (AR 217D) 711 01 P71 RD XKo"
"> and for the first 72:% this is no x°wp because there still needs to be a 01 on
how the o015 of each separate 2115 were only 10 mnx from end to end despite the
a3 between them

3) X
a) nrwip on the Xan . that 02110 were 012 oMY
i) DI °27VXOR XYY I19D107 NANR T 12N 1721707 13T — PPN PO KNPT — MR

i) 7RA 7 P TIWR TARI PORD 2P TAW TARTY 7P I T TAID ROV T R2PT — K2
nyp

i) "3 P9ra IR1270 MMP T R10IIRA RNDTY — 2pY 92 KX 27

IV) N1 2 75unh A%pNm T 11207 — AN RN RN RPDT — YW 277 P12 RN 20
TnR 'on

V) 3T DIn0W KD — WK 20

4) x"wann — note that the x>wp of »»ax applies also for the first 757 of 0"awA because
721700 Pua would explain how without a o1 the o915 of each 2115 were only 10
mnx from end to end despite the a1 between them

NNX 21 07 9'pnn "1 0"awn 'a 270 0nandT X1lo

B''oY ... TTD NI NOIDX 1P N5 NO2YR NIAINT TAID 1D RAR 27 770 nopnn 7' 7a
TTOOPRD TR SO 292172777 R'TOW RIIVSURD 1D 23 WIDY MWK 77197 WD 99
1) nn7pa —refer again to the Xwp of 2py° 92 KX 29
MR 1T RIIDIPRA KNP
1) o"awn — K02 of the ®>wp of 2Py 92 KX 29
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a) The length of the %5°7 was 20 nnx but maybe both 0°2175 stood in one line along
the diagonal of the 92°17 that was more than 20 nwx long — so that space was
available for yi91

2) X"wann —another mxe2 of the xwp of 2py> 92 knk 29

a) Maybe there was space for 1913 because each 2115 stood in its own 1103%x as in
the o»% in X"wnn so that each 2175 formed one arm of a V — with the central
point of the V directed at the 177x (as in the first 71°¢ in X"wann) or directed
opposite to the 177X (as in the second 2% in X"wAnn)

mN 07 9'pnn 2" T NIdoIN T 70 DANDT X1I0

D15 D'"oY 2"YT 1D PR Doy "o D »''2 B "D Mar v nvpnn ''Ta 'own
MIAT D92 D HRIRWD B 200 9907 52 ST 2wn PPTIAIY 1T 213 2%aeT
2H'"PY 290152 17977 BT RPN TR 17 012 292

1) mooin
a) Xwp to the xwp of »ax in 'a pon

i) Even if the 2°2110 were o°91337n2 Pu212 so that 17913 took up no space — it’s
still a o1 that 20 nx of o015 fit into a space of exactly 20 nk — because
"0 27 o wva 0wy

b) v n

i) »ax accepts that there were o°01 in the o°015 — he asks only that there’s no
proof that there were also o°01 in the 101

2) X"wann
a) Nwp

i) Once mooin establishes for »ax that o°01> had to be 012 72w — how did the
X3 derive that the o°91) were 012 7w

i) Maybe the o1 of the o015 was that they took up so few nnx that space was left
for the o°o1 as well as for the o015

:0X Q7T
o' X7 a"TNn"awn

5'"op "3 TR PPNAN NRIDTY MTT 1D D120 RYY 71''72 2" awn wyvDa [2 TRy v 7]
72107 ©I2° K9 2w 1P 7''BRY AN D572 MINP RDIV2 RIT PPAN NDIDTR 0TI
H"'PY NN TR

A "Ta"Tn"awn

o7 DUwATa Do "D MIaRN A 2omsn 7Y DR "R pavay o pap ' a2
W 52 W 11197 WIS PRI 75U T NIYIRNT W WIRTD Y120 WYY 2veneen
oW TR MPARNT W QYW 2OWINIDIW P17 7T DA AN IR NP P00 12
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NOR QWY TN MINKR "1 9P 2975Y 21 MK ATTHT 0D wrn 110 P12 DT T
BRI VT NIRRT DR P12 RYT I9Y AR 2N DY TR 20750 'Y MR Y''eam
DYAR ''NY OBR RAT "R DY R 9D RYTY 2OWITD2 2INDW 170 1D NI NIYARK Oyan
TN AR 2TIN2 TR 2O70Y 7Y NIAR 1''D 12020 NI WY DNT WY 2''RRY
PARN 2277 "3 NWanN 'R 0T 72m0 AR 79K N KD WK AR N12OnnY 120920
TAR DV NIAR A TN 1R 9D T NN NN DRD NIDNM T TR IR wIRan nea
BT 70 T I PAWAS DY AT (57TD) TAN TIRW MDA A D X% nvazy ‘M
(F772) 779779 23w TRMAW NMISNMT "R 391 AR 2MIN2 NIYARN '2Y 29100 T naR 2"
T RV I TR AR 2T ARY TR 29DV U NIAR 7'0 97 70 T IR 0N
QIIDV 75T AR STONINMY TIIND AR URR R RMIR"MV"TERY R IIR"M 200
WITORPTY VT TIIND 2710 Y2RN P20 "N MIPARN A IR TR TIN0 70 MR v by
R"A 1P AR T 207700 7 212 YARK XM KA 201700 57 10N 1O 1wt TR
TNIN OO RS TN PIRR IR AN 79907 92 700 MAAA TRWR NN AR DY
I 2R 757 2R 2N aw 2R WA R 2m NIYasN 7' IR
TR T2 R TV 22 R TN NIARN "2 T IRWS 210 1T TN AR PR
RS2 2712 TR RAT DRR WITIAYT TN TR WK YAV P27 A 2702 TR KRS
NRXY MO0 AT MR I RS TIIND YRR N PANNR 120 7Y MR TIR WK
2192 NIYARN 277 2 ININ NI R 2N NIPASN 'Y IR 7T TR ewRa T IMIN
927 A IR TR IR TV 2T R TIING NIYARK K'Y 7792 19770 1IN "20w K'Y
1M TORYTY TIIND U020 'R 2MIN2 PaNN YO20 uRR TINM YIRN Uan '3 hY YaRN
T2 ARWY 2T K'Y TN PANN O 20 KR YARR NIPASN PUa0 AT TIND
T2 T MIPANN RO AV K7 2MN2 TN PaANND 098 YaEN PUa0 By pass yoan
STAR 19T NIYARN 7D 1DTIND 77N 20D I TINA R''T 2102 I8 nvasR 2’
2 PARN P27 1T DY TN AR 7N 2950 757 DY WTTORYT PasN ¥han amna
P27 2751 A1 MR 1D T T 72 Nasw 2o7su T MRk 1''on By aTonyn
PAXN P27 NITD2 DY 27 DIPDT PRAWMR 07 IR PRWT T 9 9T AR 27102 YaRN
RN DaR 157 PIN YRR 20WYR TR PO 100 WA 1T IBY Y0 1100 2AR)
TIV 23 YRR 2OWYR TAR PO TR SO0 KD PAXN Y20 NIND Y 27 00 IR
DD TRAT MY IR 7702 720 INWIW K'Y DY YARN P27 DY NN 0
12117 NTNARWN NADMTA 2T ARY SN T2 R 7T YARND 20N TR PUR

1) nn7pn ton"awn

a) A nov is one-sixth of an nnx and is equal to five nmwagx for 5"wann (who says
n"awn deals with ordinary myaxx) and four myaxx for 8"w-nn (who says o"awn
deals with %7 that are wider than ordinary nyaxx)

b) The area of a xo n»2is 50 nwak by 50 nywak or 2,500 square ninK

c) Aapis 1/6" of a nixo — it follows that the area needed to plant 1°2p '7 is two thirds
of the area needed to plant a nxo — namely 2/3 of 2,500 square n& or 1,666.67
square NNy

2) o"awn
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3)

4)

Each side of a square that has an area of 1,666.67 square nx has a length that for
the X073 of 5"wann is 40 nnk and 4 onsv and four myaxx plus a any vyn —and
that for the ko of X"w=rn is 40 mnak and 4 oonov and three and % myaxx plus a
N VYA

282 of the mawn

a)

b)

The side of a square that has an area of 1,666.67 square n»x is the square root of
1,666.67 square mng, or 40.8246 nnx — 40.8246 nnx are the same as 40 mnx plus
4 oonvw pus .95 ndw

To convert .95 o°nov into myaxx — for 5"wAnn multiply by five to yield 4.75
myaxx — for X"wann multiply by four to yield 3.88 myaxx

It follows that the length of each side of the square

i) For %"wann is 40 mnxr and 4 oonow and 4.75 myaxx — and this is why 5"wamn is
DT in 2"awn "IN YN MYRIR 'Y 2OV " NIAR ' 110"

i) For X"wnmn is 40 nwax and 4 oonov and 3.88 myaxk — and this is why X"wann is
DM IN 2"aw "IN YA MIPARR A 27OV T MR ' ¥

R"wAn

a)

b)

Since the "vyn" (.13) by which 3.88 myaxx is more than 3-3/4 myaxx — is smaller
than the vyn (.75) by which 4.75 nyaxx is more than 4 myaxx

It’s more 72non to say for o"awn that a row is 4 myaxx than to say that a mov is 5
nyaxx

797
177 'NN2 X" XA

TTARWD R'"I7 XD 3P RDT ROWT D' 110 010 ON%2 2929 R R [R TR P 0T
RPDY PORT IRRPT 2R T 20018 20920 R MWWPRD 7 K97 X7 7T 30
RDIR 2779 D17 12 PO 2 PAWTRAT "1 IPOTTY R TV 207 2WR PAINRT
R 70 RWPT ROR 2770 DR PRRTR ROR W01 2991 IRD ORTIT R0 a1 b

1)
2)

3)

19" Py YDA WY SIPINT ONRRMT STO0 1P ORRa

XN*92 — TYIOK " says 1702 1702w An 0PV 717 1772w 2020

Rapiab}

a) Xwp to MYHR M — 11 20191 0020 0

b) yy7°n — 139K ' says his 127 only for "77w InR2 977 177 A72RY 0027
Twnn of the X723 — gvw of X1 27 72 120

a) ryHR " says his 17 even where 777 377 772K X

b) oo hold that "% Srn P nwTaT 19P5%P% MoK 0°27 12 P naw Jxn" —and o021 are
then nnp the 977 by a npim 173 whose details aren’t relevant here
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4) X"wan
a) Nwp
i) Now that X137 27 12 1727 says that 21998 " doesn’t rely on  IMR2 777 377 7728
77w — the Xwp for 21¥°%% ' remains "3 171913 0927 0"
b) v

i) 219R " relies on 79°mn the same as oonon — the Yo between 219K ' and
o°non is that a1y Hx " says that "°2" (meaning 71%°77) counts as a 1ap while
o°nan say that npin is needed for 1°1p

7 Q7
'V 'XN NAY] NN N'A XNa

"1 77D RY ORAR N''RY 23T 20D "2 a2 IRR NAwa MMaps N2 aw [2 7wy p 0T
MIETIRAT 2"MAWNDW 7 WM MY Doy "o @' PN ROOK M Nawa PR av
PR 21927 ROWIPT A1 RINID VAT 2OWTIN 2IVIWVT2 PAR 21 MR T TR
IR 0M YT MR TN SARAT PINNT OY 2'RT 30 W R'RY Dwenn w''noy
2WND PIT VIR 2IIMT 1T 221N 2ONAR ANDT NaAwR PN ROMWIPIR KON D07
QYD 212 1T TR 2''RT RDN 2 N MNP N2 awMY TAYR M0 3w
STAY INUT ONTY V' YAR MUAR ORT 1D 1922 AR PR 7010 YA nwnY nawa

15"y " pan IR 2w TR P''a aw

1) npa — mavn and mawn for a nn are made only in the mn2apa noa and only on o
77127 WX — meaning on the same day as the 7712ap

2) Xn»12 - m7nyn and mawm may be made on naw
3) XM

a) xwp according to the xoax of H"wann — PRI 01 'R 01°21 MNP 0222 NRR XY
">y2 *’n Nawa — namely the 77M2p couldn’t have occurred on NAw SO NAW can’t be
771277 WRD 2 — in short "nawh Pwra oY Iy RN

b) yyon —"[ww 0 M0a] MWHAW P2 IPVART MNP N2 190N VA"

4) o"awn — the xn»12 refers to this mwnwi 1°2 as "naw" but for m7avn and mawn it still
counts as *ww o1 (the day of the 7m2p) because "ori anx 7217 79°93" for MR

5) X"wann based on noy P

a) o"aw" answers correctly how naw can count as 7112p% w1 a1 — but the X0 of
2"wann that the xan3 itself asks "va *xn nawa w1 or" is a pmi7 because the poy
717°n to this Xowp (that o1 R 7217 79°97 for miR) is 1507 12 on

b) Must be that

i) the xwp of the X7na is as in our Xo7a: ™¥2a °Xn NAwa MN2pn N°2" meaning if
mawm mnyn are made on naw how will people return afterwards to their vy
that anoi 1 is 2N vIn
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ii) and the X3 answers that mwnws 122 170K N1N2PT N2 70mM0T °va and
they did mawya m7nyn at mwnwn 12 when there is still time to be ann before
naw

6) Twniof X"wamn

a) xwp for both mxon

i) The & n3x could have answered more simply that the &n>»12 deals with ny7avn
and mawya that are made mw»wi 172 — why does the X7 add that 122 17vRR
mwnwn

b) v n

i) If av 7wan mrunr the mawa m7nayn would *k71 also be made oy 7wan and
not mwnw 12

"N 770 't N atfn

B2y "D JTORY 1ITAT ANT MARTS "D KBV KT 332772 AN 10 ' 3 a''7a 'on
ROR 12 2257 7 JANT RIT INY TDT NI KRV NI J320TAT 09 WA PAYAR TN

1)

2)

3)

4)

5)

TH''™Y 1D 1MTAT RAYY RTIDAT 2NN INKRD 1DIRNTR
1awn
a) AV 123N TMIVE 2P0 XN
N

a) It follows that n» *313 can’t be dug under the 217 of a m12pia n°2 because
otherwise there’d be 7nx nxmw for a person who’s 72 in the 1x¥n

n"awn as explained by msoin

a) 7210 are made seven o rov high to leave a nvw o between the n» and the top of
the 111x because then xn»2x71 the top of the nx counts as an M that’s *195 yxin
R

mooIn

a) A X3 in mon2a teaches that 1312777 the nxmw is 79w nyp1a anyway
X"wann

a) Nwp

i) Mmoo ought to prove that 112777 the R is 79w nyp12 also from our X
where we established that if 1°315 were dug under the =xn their xmw would be
7731 nyp1a even though 1015 are 't 1211 and there is a now nno

b) v n

i) mooin prefers to rely on the X3 in M>72 because the x na there explains that
TR IS 72w Y12 even where there is a movw nnd because of a 11277 77°m)
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AN "nw an T1Na "2 P70 't i nimoin

N0 12 WO S0 BY AR "D XMWY N2 1D 75U N0 12 w0 "D MR R 2% 7'Na
|7 12INAW 7 NY22 INMIY 292 923 AN NINT RAY TNRDD 9oy "D nypa nov
WY 7ANTR DTAAT NTOWT RITTA NINPTD 01299 NPV 7T PRI INZD NP TITR 0
TAPY 1ANSW MWD AN NYPIAR BN NRID IRMIY TITR RRyY ''HT 0072 non
TN7 IR DU NN PR AR R 20922 NP N0 IRTIT 2N DIART NTWT RO
MW7 RDR KAV NI27 PRI 770 20007 aY DTN P7 DA N7 NRID INMILT
ROPR 12 NRID FIRPIY TITW DD ANT AR KDY 2w w7 950 9 nYpIa IR
BaR 1D IRZY NP TITW ODY TN 12IN2AW 7T N2 FINMIY KNDWAT RDIDN 2y nnY
RI7572 AR 57 11D NRED FIRMIY TITR 2R RAVD RDWNRT ORTY DTIT NTIWT RTA
"D NRED NPV AT 2N N2 RAYD ORP NI RNDMAT ROIRT 21N NPT POD2
TARTS TP NYPIRT aYVR 9N 907 AN 1M RTIRPAR D197 295w 170 ROWR NN

2" "D R2OON ann

1) mvw of "2

a) The 11217 7 that an 17X that’s now nMD isn’t ARMAIVT *197 YT applies only to an
7R that’s 0100

2) " in mooin
a) "R1 to the nvw of o"am
i) mawn in MR noon —

190 MO 12 PR INKRYYCDY 150 [7M1D 12 W™ D27 RN Mnp XINw 2°2
NRYY ARMIVT TITW 25D KW 1277 19102 IR

i) It’s 7anon that the 7awn means that even though the 222 is mov o the N2 is
Xnv because a 222 that’s "nsv NI 12 PR INRX2" counts as oo

b) xwp to the v w of "2
i) Second mwn in MR noon —

7 719102 NPV DL MO INRCXCA PRI 751 M9 72 W 27 N2°n
N33 717 DRYY RNV TITY 0DY XnL 1022w

ii) For o"2» the n°a should be xnw even if Nk aRmv 7717 PR because a 273 na°n
that’s oWV TND NR°Y 2 PR counts as oINd

3) X"wann
a) Xwp to the "x1 to 0"2°1 from the mwn on 22

i) the same as the x>wp to 0"2> from the mawn on 9731 n2°n — why is it relevant in
the miwn on 272 that "nxxH armvn 77" if the n°a is Xnv anyway because xmw
airaiialie)iipin}

b) y»n

i) For 22 the 12 axmw is in fact naas g NXXS 777 K but is Poown oy n77v to
0°277 M and that’s why it’s only because the nxmw is 7231 nyp1a that the na
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is Xnv — the only reason the m1wn on 2°2 mentions NRXS IRML 7Y 07 is
because this is important (for a reason not relevant here) to the x5°0 of the
TIWR 0N P22 AR

ii) Contrast the 7awn on 97a1 na°n for which the Xana in 2w 7w o says that
the n>2 is xnv only because nR¥? AW 777

Ml "1 TN A 270 T Nt niosin

TR NP SIRMIY RTY ID UTWRY ANT 290D ORBN M1 901 "M 7''RA [2 Ty P 0T
NPV N2 PN MRPT 7DV MNID2 SAVHD SNTNAT JIART 2R RIMOT DD Doy "1
T9ODR 299D 1 IDW INID 72 JOR2Y 1D DI 31DM TV ' IRXY NP TR SN
NYPI2 NPV PRT UTWR O AP NYRIR IRMIVT 2R RAUR 2''NT PInD anoa
"SER FPIYY NP2 NPT 220D DR TR KXW 2''n vMaTh RN B b
BN "D INPIY TITR NMADY WA Y b MBU INANIRYR PRW RDYT U nnisa
799 NOR RI7772 9" RTT 21290 00 1R ROWR IRR PN DAR WY nYpIR IRmIvT

2P'1ITY PIIT2 2R WYY MDY NI 1R WIDN TP NP TN IRPIYT
1) Twna of the mawn in M»aR on 973 n2°n — >0 "M is P2 on the X»p Rin and holds that if

there’s XM in the 97an the n°2 is 71w because the axmw can be Pren &3 (the o°vd
of Pxxn Xy aren’t relevant here)

2) nmpon —Rwp to o'

a) °ov "1 should have held that the n>a is &nwv anyway because 77131 nyp12 IR
3) R"wann — R0 to the Xwp of MmooIn

a) o1 ' holds that %m0 isn’t 77391 nyp1a even where there is no mov Mo

N7 7T
y70n '9%7 On a"T10"awn

N0 17°2 K27 Y902 IR ' 11D 17190M RNDDINT PR "0 95® bar 1''7a ' awnna
Bapn 2ADT 2'"awn DR 2N NI 9 2" YT 3 ana W an wh BBy "o
S| ARARP IR MMEAY M1 RVTW 19D NP Y0 M5AD SpaT 2972 KA Yo Pann
N277 Y902 DaR =7 YR 'R TIN DANR DR P Yh Sapnh PR e pho IRT7
R 'R 2R KRR DRI R0 DR MR TIN DDA 270 mwyd bapnn onR 2v7a
TRY T2 2OPIWTT DIWNIA M2TY 22 20T MYRT 2 'R TR Rab ww an
B Py TR
1) mwn
a) For 1327 as in the first 91°% in 2"aw —a M1apn n°2 has two mawn each 6 nnx long

and 4 mnx wide — one to the right side ("nm") of the 2 and the other to the left
side ("27yn") of the 7xn — and a total of 16 121> are dug into the m=yn

b) For nynw " as in the second 7 in 2"awn —a MmM2pa N2 has four mnvn one in
each direction and a total of 42 115 are dug into the mayn
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c) Similarly 1127 and nvaw " disagree on how many n1w» and 1°313 need to be dug
by a 92pn who has undertaken to be 1911 a m1apa noa

d) 9X°%n3 12 wnw 127 — ¥H0n 997 9o
2) o"awn — K2 of ¥yhon 0% 9o as understood by X"wonn

a) AbHapnin nwp y2o works harder than usual and can be 19317 less 1°215 in qwp ¥50 —
and a %apn for o>7°2 X277 ¥50 works more easily and needs to be 991 more 1212

b) This applies also to m"yn» as proved by the following &nsoin

Y902 MR AT M MM 12 T MR WA " MAYn Snw 75107 1o
SRWI PNYAY 7 WOR R 17 1K DAR TN 1N DR 79 1702 K2
MY o232 5y 172 vnn

3) R"wann —r0a of the &1 of a"awA from the xnoon

a) a"awn relies on 777 " who says it’s only in ¥p7p that’s not 0°7°2 X2 that 13127 says
a 72pn needs to be 19 m only one 7wn in [t and one vk in 27yn — but in Y90
2°7°2 X277 the Hapn needs to be 9 two mwn in 777 and two in 27vn

b) 23xk 7772 and not directly relevant to the &3 of 2"aw" — o"aw mentions that 1120
in the Xnooin disagree with 777> " because if two nmvn are on the same side of
the 2xn neither 77yn would have an opening that’s directly opposite the 2% ino

c) 0"awn also 23& 7772 mentions the mww of Nwnw " in the Xnovon

NI A"T 0"awn ‘N P70 1D N AT N0

"2 3107 X7 INATH ROIA NN D DO 10 TIN2 ORWY OR and "o B''ART M '
A2 X72R 2''D MWTNR RPT ROTM IMKD DRI 15 710 K7 ORD2D ORY JO0NAT KON
15"y IRIAR

1) 7IWN IN 7YID NIDN — NV 1IN TV Q2P0 XN
2) X ma here as understood by 11"

a) oRw

i) Can a 7> can be dug "x"axn" below the 2xn
b) nawn

i) wnmp &7 °R12% °R — the v “&w in the 1xn will step over the 715 that’s
below the 2z

ii) And besides — people who step on the 7xr will be % nxkmw xnv1 by the 715 —
contrary to the mwn that says v q¥na TW5

2) X7mx according to the xoax of 5w 090 in 0"awA as explained by X"wonn
a) ToRw
i) Cana 7> be dug "xun" (below the 77vn) or *&12axn (below the 2xrm)
b) nawn
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i) OwInMmp R ORMG R — the muna ke in the agn will step over the 73 that’s
below the 7wn

ii) *x72% °X — people who step on the 2xn will be %k Nk RxLI by the 710 —
contrary to the mwn that says v 1872 T3

3) R"wann
a) For the xo7) of 115w o°7o0 it must be that there is less "w1n°»" on the 22 than on
the 77vn and this is why the &3 asks "winmp km" only for "X °x

I AN A" Tn

AR KRR D' 5oy "0 TR KUK WK IR 1D 0210 2TRTW "0 " Jam 1''72 'own
W'D DXMINN PR PRYARWT NIAK DD IPIDRYY TR DWW 2 PawT 50 218NN AR By
"=y yanh 'oinn

ANA N A" TN

72291 B'"op "2 DR T ODIN NRT 12 110 PR 2T R nTRY " '
TN DYWRMT TIIND NAMNR TIWRAR IOV T 7WRAR TID P2 PRT 1190 1T wpn KD
IS DER 'R 7RO RIPT 217 7100 NMAR YAAR TIN 9T DIRPT K27 10 AN NINN
19212 "2 W 'R AR MIEMR 2 Ny KRR R0 Dan 77 78R TN 'R vnaw

29'"mY @A T
1) First nnTpn

a) A nnis xnvn any person who is within four nnx of the n» and isn’t separated from
the nn by a nxomn

2) Second mnTpi
a) TIv 1IN TAWT 2P XN
3) X"wann

a) In the following 2vx for 13127 there is one nnxk between neighboring nma 19215 and
one nR between neighboring 27yn2 121>
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b) note that

i) if a nxonn is made to the left of '3 710 — then to the left of the nx°nn a person has
a 7IIva 72 oIpn to the 2xn that’s more than 4 mink distant from '7 72 and is
separated by the nxonn from 's 710 — as a result it’s relevant that the person
continues to be v if he enters the a3

ii) but — for nvnw " who holds as in the 2% in "3 p%n1 that to approach the 1 a
person must pass between two 1215 that are an X apart — nooIn asks that
there’s no way for a person to enter the 22 without already having becoming
Xnw since in the one Kk between two 1°215 there isn’t enough space to place
two parallel mx>mn for a 7nwa 7200 opn between the mxomin

0LIZN WA'SI T'NA NIDOIN
'R "D RDT KRR 97 IND IRT 12 179 702p7 71721 N0 Towa aw BIRT 7''eY 7''Na

IN7 TAYT 2" "2 70 201D N AT X0

7129%1 "D MR "N ' 7an 2'RT PR 10 avy 1Y we T "2k Ayt '
B'"oY NN TITT 12 TN STAR X ANAUTY BN D15 oy 10 1o RWT
PRI RDT NNRT ANT20 M1 RNWTT IRTIT 2R TIRTD PR MRY TR 2OPINT 2927 2N
PRI KDY IR T STAR YRIT WAT aYY 0D WY AN 25T 21 navp Paswa avasn

SR'NTY P D22 AR YRTT OINR TIIN2 2A 10 MYhR Paswa avasn

1) First nnipn
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a) As inthe 7 in o"awn — nynw " says that the 2¢r of a Mn2pa N2 opens into a
77yn in each direction

b) The following 21°x shows the layout for w»w ' of the 2xn and a 77yn that’s to the
nam of the 1xn — each small square represents %2 nnxk — the 11 19313 that extend
from the 77w horizontally are called paswin

2) Second nnTpi

3)

a) At this point the x nx holds that the final two 1°215 are placed 221 113 — vertically
into the ground- at the places marked in the 71°x with a 1

b) Note that the top surface of each 221 125 710 takes up 1 square nnx parallel to the
surface of the 2xr1 — there are three 91 115 1212 on each side of the 1% so that on
each side of the 23 these 1215 need three nwax of space — each side of the 2xn also
has a rins that’s three mnx long — it follows that each side of the 2% has to be at
least 6 nnx long

c) Note also that parallel neighboring 1as5wn 19315 (for example 2 and 4) are one nnx
distant from each other

moaoin
a) Note that 1 221 12 is only %2 nnx distant from 2 20w 7
b) xwp
1) why isn’t ¥ iR also enough to separate neighboring parallel paswn 19313
c) y™n

1) The paswn 11> that lie parallel to each other need an nnx between them for
stability — contrast 731 713 that is % mnx distant from 2 715 only 2wx22 and the
two 121> separate further as the a1 715 extends downward and 2 712 extends
outward horizontally — because of the increased stability a %2 nnx separation is
enough at their closest point
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d) wwp

i) 7 70 and 8 7120 in their n»1 7P also separate as one extends to o177 and the
other extends to n7m — and the same applies also to 3 715 and 6 712 in their 17p
nr —why does each 715 in these pairs need to be separated by two % nnx
mpnnn from the other 710 as in the 71X — when the separation can be reduced
to ¥ ik by reducing the amn of the 77wn by a full nnxk by removing a %2 nnx
strip that extends from point 9 to point 10 and another %2 fnx strip that extends
from point 3 to point 11

e) First y1n
i) Paowa oonan PN RS
f) Second yrn

i) The width of the 77v» runs alongside the xn and we’ve established that the
qx17 needs to be 6 Nk on each side

4) S"wann
a) Nwp

i) Then why not reduce the separation between the 125w 1015 at the n»r 17p by
reducing the length of the 7w by removing the Y2 nnx strip that runs from 9
to 11

5) x"wann
a) The first yr7°n of mooin applies also to this Xwp — 1°201w2 o151 P90 K2

N 71
D'YIONn ¥ 2" T 0"awn A 70 21D "IN 0T X0

DOWwpn W By 10 Ponpna s;wm "o auw 2" 772 0"awnna [2 7MY Xp O7)
'20 NIBK '22 WHAT PIRYRL IR W nwnn 17T 1o B O"'yT 110w awwh
SRI WD TOAVT AT 3P PO "2 T3 O''NY Avaw 1Y I 507 W A"Y I 2w
K71 STTIIN WAL KPT 9557 55 17 3"'Y W7 2NN 297151 S1wY NN 22 sm1 DY ponyna
M5 R"'T 27 TIAA AT KD 7R 5O KO v KT DY 79wnT 100 N 502
"7 DaR w7 'A% X1INR RNDDIN RAIIT MW WA '0InT awa b a'awanw
DYID S2AT PRV D WY TIVY TN 912 1201 TR M TN A0MWT PR

12117 979 KY AN TN92MR AN DR NNYRT pnrnw

1) =wnn of the X

a) The R is 79n the v1on of "1 Py a2 727" and explains instead for Pynw "
that the two 1213 that aren’t 120w "0 17p2 12 772"

b) X0 ROPW

VAl RpP XM
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1112 7°2Y 927 WA "D MM T 0377 XN R ORT P7AYNa WK 27 IR
POMYMA OM1 037 Pnvna

2) o"awn — K2 by o'waon w° of the y17°n of the xma

a) "n"r17p" means 1701 that extend from the %2 nx spaces that are marked "n»r 37p"
in the following ¢ — for example from the % ik space marked '& n™7 179 a 712
extends to 1ox from '& 79yn —and from the %2 nnxk space marked "2 nr 17p a 710
extends to o177 from 'x 77vn

— TN

_] BME

[ by [C

S »/O
b) xwp of "y xp &7"
i) Since each of these n"1 17p2 1212 is one 7k wide and

(1) there is only a %2 7k space at 'k n»1 17 between the 2xn and 'R 20w 712
of 'x mvyn and

(2) there is only a ¥ i space at 'a n*1r 17 between the 2 and "2 20w 75 of
'R YN

i) The '® n>1 17 75 of 'R 77vn that extends 1ox? will extend sideways into 'x 710
of 'x 7wn that also extends 119x% — and the '2 > 13p 715 of 'R 7wn that extends
o117? will extends sideways into 'a 73 of ' 77vn that also extends o177
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C) WX 27 answers 121 %371 813N R KT ponynd
i) Meaning
(1) The ') > 19p 712 that extends 19x> from 'R 77w is dug below '} 715 that
also extends 1ox>
(2) And the "a nr 1P 70 that extends 01175 from ' 79wn is dug below 2 710
that also extends o117
(3) nynw " must anyway hold that — to avoid colliding with each other —
intersecting 1215 for neighboring nmyn» (for example "2 712 from ' 79yn
that intersects with '» 712 from 'x 77v) must be dug npnyia one below the
other
3) R"wann
a) First mnTpa
1) We established at 't 72171 11"7n that the height of each 71 is 7 o°now — it follows
that where "2 715 from ' 77vn intersects with '3 712 from ' 79v2 and one is
Tpnyna below the other — the two 1215 will together use up 14 a°ndw of the four
7R height of the nmyn
b) Second nnTpn

c)

d)

i) "2 7P 7o that extends o175 from ' 7w must be at a different level than
'3 70 — this yields a third level of 115

Third 7P

i) xR 70 extends 4 nak i from 'y 7w and would collide with 2 710
and 'a n»11 172 710 unless there is a fourth level of 1212 for a total of 28 o v or
4 mnx and 4 oondy

WP

i) 20"awnon 'a 7y says based on the xnooin that the entire height of a 79wn Sm>
is only four ninx

First y1on

i) The xnoon follows 3121 — but for nwnw ' the height of 7yn *5n1o is greater —
the same as 1wnw " in general has greater o>y w for 1327 for mnapn N2

Second y17°n

i) npnyn of side by side 1213 that extend from the same 79w n3 is in fact made
by apnyi of the 112 from different levels of their 01> — but apnyn of o1 that
intersect from different %m> is done by making one of these 12> begin at a
lower level than the other — so that no 512 needs more than four nwax of
height
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Inmi TN2 0"awn T 7N 1D "IN AT XIo

YRR ONT IRAY TIA0 IN22T 2R "D ' PR O KD YR D02 w1y 7''NRa
TISIT TP O RATY TIND IR TOW 51 RIT IAN 727 9O "2 D92 0w 1IN wp
TIST IR PO RIS MPPPD TR DWW YA R IR 1R DO TR 1TRR TN
DR PTTRN 122 PP TN TX Do 170 WY PIDIDT N 9D 72TRY AT P2 YA
TION® 2" w7 W KD U'TAT MWERY IR 959D 2T TR 27 PR 3R R TN
NURY R'"P2 PND I 1D 7R D02 10 R KR A0 10 AR T R um T
7T T2 2T U0 ANTY POT2 QWA WMTT N2 D AN I MWD NI ONRW NID»
SRTIT STIDAM MR T DT JIRT WABR WD R Y "2 MY R R "D
SRR Brbpn RUT I900IT DI INWR TN ININ2 9D THNT PIAYRT RDIT Do
T2 NRN IO T2Y BaR 29 TRNT IO T NW NI T D Mwnan 17T ponyna
2T R RY
1) a"awn
a) Nwp to the qvw of ow-on W that’s set out in the prior pon

1) If npnynais effective to avoid a collision of '} n*1r 1792 710 with '& 25w 710 —
why doesn’t 1wnaw " permit two levels of 125wn 121> that extend one on top
of the other from each %n> throughout the 77yn

b) v

i) 1 7P oo are at an especially stable part of the 5n1> because these 1210
originate from a point next to the 2xr and there are no m7°o17 in the 1%

i) Contrast those 2w 112 that have 120w 1212 on both their sides and that
would be less stable if there were 12212 below them

c) a"awn dismisses this y17°n without explaining why
2) X"wann
a) Here’s why o"awn dismisses the y1°n

i) Although & n*r 179p 795 originates at a point where the 2311 is on its left side —
still the 712 then extends for its full length to the right of 'a 77w that is entirely
hollowed out

i) Contrast '® 20w 710 (the same as all other 125w n 1°212) that throughout its
length abuts on no %11 other than the %r1 of the 77yn at "jan1" — meaning at
the origination of the 75 that’s only one nnR by one 7k

b) o"aw" then proposes this y17°n for owon v

i) The reason that ynw " doesn’t permit two-level Paswn 1213 is that this is a
nan T2

il) a"awA dismisses this y17°n because o*wnon w° say for nwnw ' that 'k 01 1P 710
and '} 712 extend from the same %n1> at two different levels and yet pwnw "
doesn’t say this is a n»I "1
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3) o"awn — PR N

a) D1 P2 R avT means the two oo that in the following s emerge from each
77vn at 45 degree angles from the two corners of the n7yn at the far end of the
77vn away from the axn

F—]

Al

.

i/>

b) The &7nx then asks that although for most of their length the two new 12313 for
each n7yn aren’t va11 the neighboring 1°312 still they are vai1 the neighboring 1°313
at the point where they emerge from the 7vn

c) And the x7n3 answers " nyna" in the sense that the further the n»1 39p °212 extend
from the 77w the deeper they descend

d) The x7n3 adds that pynw " anyway needs to rely on p°nyna to explain (the same as
we’ve established for owon w°) why 1w 1215 don’t collide where they
intersect at right angles (one running *nw and the other running 27v) shortly after
they emerge from neighboring m y» —as in the 21°% in 'x pon where '2 712 and its
neighbor in 'x 77v» run o175 against 'x 72 and its neighbor that run i from
"\ 7vn — R"wAnn refers to these mpnyi as the 7931 a7 Nwnw "% mawnan 77 mpava"”
"2y 791 T AN W

4) X"wan
a) Nwp
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i) Ask for panx 1w the same x>wp that o"awn asked for owaon w> — namely why

doesn’t Pynw " permit Py for all 1225w 1215 so that two levels of 19315 can
extend from the 7n>

b) v n
1) The n»1 39p °210 and its neighboring 1°215 are not one above the other and

instead run in different directions — that’s why the 1°21> don’t destabilize each
other as much as 1°13 that run one on top of the other

i) The 212 in the 7% that intersect at right angles need to run npnyia only for
the distances in which they intersect and not for their full length

c) Note that for pnx WY there’s no need to say that we’re w>°n for nian 11°12 to
explain why 1w»w ' doesn’t permit two layers of 123wn 19313 one above the other

N and "1 0"awn 'a 70 D N AT XAlo

5oy 12 290192 29K "1 1D POSHR ININ TIT NRIY 190 N7 12 N7 e '
BNID2 DN T TIDY TID P2 TR NINPT 2N IART RWORT RWNP ORM PR
TN PONAW IR DWW AR TOUTY RPN PN TN 71T KD 2" AN BaN vnn

P17 R NIAR TR PN IR0 P2 N O KD I9102Y 30w NN 7
1) mnpn

a) We established in 'a p%n that *wx 21 says it must be that there can be apnyn of 19513
at different levels of the nm> of the 7vn

WAL RP KT 177 52V 0257 NWaw "D MM 7 008 RN KD ORT

b) -wx 21 refers to the following 1% where — unless there is npnyi — 2 121> that

extend upwards from 'x 77w would collide with two 12215 that extend to the right
from "2 77vn
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a) xowp of ywir 217 M2 kT

2) XM

i) Even if there is no npny: the 1215 on the sides of each 77v» won’t collide
because the 1°312 don’t extend straight out from each 77v» at a 90 degree angle
— instead they extend at an angle of 45 degrees as in this 21x leaving enough
space for the 1212 not to collide

.

ﬂ Il

l " R o ')Y’f

§ |7, [

L
,J__.g_—”‘J

b) xwp to ywi 97 2 817 27 as explained by o"awn

i) There are eight 1210 that extend into this area and seven separations between
the 1215 — each 712 and each separation takes up one nnx for a total space of 15
R — but the space that’s available for them is represented by the 1105%x in
the 2vx that is the ooox of a square each of whose sides if 8 mnax long — the
length of this Nnoaox is only 1-2/5 times 8 nmnx or 11-1/5

3) X"wann
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a) Maybe the 1215 have an K space between them only at the point where the 1°215
first emerge from the 77w and the space between the 1215 then narrows to a total
of 3-1/5 nnx — so that the 121> and the spaces between them add up to the 11-1/5
nak that are available

17912 "2 DA AT T RN DD N AT X

"5 MWD INDI D''OY 15 NPT TAR IRTTA I "2 10N 2 ImIN veaa " ' T2
TIST R RAT 207 WwR 2RI AN oY N1TAR AN R 'R TI0 IRIPT RN
77977 KD DDIT TID DR 1MINT MWORT 777 23 DY 7T MR TRIPT 0 MWDK I vna
SRR Bo% 2MWa 157 2995377 DWW PoIT 2T 00 PURRA 7T PR KDY TAR X P

TP'1NTY 3T 2OPMY RYY 1901

1) First nnTpn
a) Return to the & x5pw of the X na that was discussed in 'x pon

NI 7 997 RPN R OXT [M°I7 1792 19912 00 237] PPana dwR 27 R
PPV 11 937 PAYR 1T Ay 200 e M7

2) wnn of the x7mx for the vw of oowHon w in 'x Pon

a) There is no need to say for nw»w ' that there is npny: of the two 19313 that extend
from the n*1 17 because n»1r 17p °210 are for o°%01 and are only %2 nx wide and fit
into the % ik space between the 2xr and the 20w 75 that’s next to the 39p T2
v
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3) X"wann

a)

b)

d)

Xowp to the nuw of owasn v

i) "2 e o from 'R 77vn extends 01777 into the same %2 R space into which
"3 o3 1R 710 from '3 71wvn extends nm? and they collide since they’re both
half an & long

v°n

i) 901°513 are only ¥ nnx high and are arranged so that the *51 71> from one
7wn is below the intersecting *%51 715 from the neighboring 11yn

WP
i) the X says that the y17°n of *%9°32 doesn’t rely on pnyi
laRit

i) Since together the two >%51>215 take up an nnx in height which in total is the
same as one standard 712 — the X7 doesn’t consider that this arrangement is
a npnyn
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1)

2)

3)

4)

:,7"171 hFal=h}=}g]
TIwA in

— 001N DRI PV DI — INDIDN DRI TPV 19770 2DV NN RN
NIN2P NIDW T T DR TV MR A AT T 72 W OR whw R¥n
anId% Mo

X773 per avw of °"

a) "dwmn" — "1PMo7 P2 WK 13772 2wrH 81" in which case it’s N to be n1on the
nn without his 70°5n because the n» is presumed to be 0"y

b) "R¥n" — 7% v19 — meaning that if the n» is known to be Hxw> then even if the nn
is 2wy there’s a 21°11 to be 1nodN V1

c) "nn"—31°% v in which case it’s 7N to be 7191 the niy without his noon
nmoon
a) Nwp

i) The o>v1o of "20ww" and "nin" teach cases where there is no 21r to be v
1no°on while the v of "xxn" teaches a case where there is a 2n to be v
1N0°5N

b) v

i) Must be that the v of "17°% V0 X¥n" teaches that if a n» is known to have
been placed in the space n2p ow? then the space has a 17 of mn2p nnow even
though there is only one nn —and it’s 10X to be 7191 the n» even with his
709N

X"wann
a) Nwp

i) The o°vno still aren’t alike because 20w and ni deal with where it’s 207
1My even without 170°5n while the v of ¥17°% v X¥n deals with where it’s
M55 170K even with 1no’sn

b) v n

i) The o°vo are more similar than for > because each vs teaches a case where
the 197 isn’t 1NN PRI 0N
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R 2'"ORT 1921577 PMIDATNAT DMWY NI02 RIWAR AR RITIRT WD 129337 1O
%% AT RIMWY NI RIMY RITTD 2NOW 2"awnpn Dan 7avn 72 KYN vnamnb
NI 1WI995% 231 29201 TR FIIIRY WITVOY 2Pk RDYDT INTI "D 7T NN2pT NoanT

RTITY AR 2R 2OTTRT T Bon PI7aR TR ORI WA TR TR A IR

1) npa —x of a mnapn na for the mvew of 1327

nun NN
a—‘» '7)) .v‘ r' ‘7)1 :’

2) mwnin om
a) XM
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3)

4)

i) If a person finds three o°n» in a space of between 4 niax and 8 nnx the space
counts as a m"ap Now

b) x50

i)  Where there is a mn2ap n1ow there needs to be a 17p>72 for o>nn in every place
within 20 mnx where there could have been 121

ii) if a person was 72 for o°n» and another nx is found at the end of the 20-7ax
space there needs to be a similar °72 beginning with that n»

n"awn as explained by X"wAn
a) The three o>nn were found in one row

b) It can’t be determined whether the three o°ni were part of the 7% 2nm> of a mwn
or a 7¥p > of a 77vn — nor can it be determined in which direction the 2% and
its mvn were oriented — nor is it relevant that an1?a7n of the o°nn are oriented in
the same direction

c) It follows that — the 1>>72 needs to be done to cover each direction in which the
nxr and its my»n might have been oriented — for each orientation there needs to be
a separate 1p>72 that assumes the o°ni were found in a 7% 501> and a separate
np>72 that assumes the o°ni were found in a 1¥p %015 — and the entire procedure
needs to be repeated if another n» is found at the end of the 20-a& space
regardless of the orientation of 1%

on 127 in MooIn as explained by X"wAnn

a) The o°nn weren’t found in one row — instead they were found in the form of an L
as in the following v — the 1705%% in the 2% will be explained in 'a pon

b) The orientation of the 7w can be determined from m2xn of the o°ni but there’s
still a poo which o°nn were in 7178 Pm> and which o°nn» were in q%p 5010 — it must
also be that the n1937n of the nn who’s found at the end of 20 nwax are "yo10n" —
namely they’re oriented differently than the m»xn of the first three o nn —
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because otherwise it’s a mu w»s that he belongs to the same 77w as the other
three o°nn

c) ¥ T if X"wAn means the same mnapn noa instead of the same 9yn
5) X"wann

a) There are two reasons why it must be that o"awn disagrees with aon 1127 and holds
that there is no way to determine from any?x7% in which direction the o°ni were
v

i) First because when the X113 says that if another n» is found at the end of 20
mnR we’re P72 another 20 nwax further away from the first 7vn — o"awn
explains that 2> °» that this other n» is from this m12pi n°a instead of from
another mnapn n°2

i) Second because we’ve established that 0"awA says the P72 needs to test every
orientation in each direction

7TAY 120 2" T NIDoIN 2 77N n*TAT X*AIO

o97 H'"'X H'op "2 "1 BY '72 mw 1900 RPY "1 POSERT 7' "2 pTaw Pasy "'
N7 737 22 MWK PO 'A% pTIAWwD 0 77 BY ' 101 By PoshRT X320 ' o
PP RYT YRARD DWT PR TID KUV YRMARD TR KT O 2712 IR TID KRB
TN PRRD TID RZIMY FIWAT TNR D2 P21 P72 PIOORA TONT RIT 2R APOTAN
IR T2NT T2 MR RUTT TID PRARD YA AR DY TR DR PI0ER DR nbrn avnn
TIPITAN PO W N7 TID MID YRMARD PNOOURT 290RY P TR B2 7Y POURT
PNOSOR2 DI N7 7T OY TR MTOOR W RIT POOUNT 51T /IR 20 pna/ T
"N TIDN ORII2 WONIT QW TR 2IPNR T MR MIAR T PNOOVRT B 7T R 2
WY FTYRT DO TY IO RIIA STIUNT MR NN TAR DR A T a0t 1002
NOOOR '2T POORTD WA 12T 12 PTIRY ITAIOW STWRMR NIAR WY N7 NMINK

t2'1N7Y 1IANR 9D MR 2MRY 927 P2 T RR KD

1) Twnn of the xmax as explained by on 11021

a) In the part of the p>7a that assumes that the o°ni were found in 2xp Pm> — the
p7a first needs to P72 the 6 nwak that might have been 717% 5n1> — he is then p7112
the six nmnx where the 2x1 may have been — and finally he’s p712 the length of the
77vn that extends 6 nnx in the opposite direction from this possible 2xn

b) xwp
i) The total of this distance is only 18 m»n& — not 20 nax
c) y™n
i) Add two ninx because x1% the p>72 in the first 77vn is 10aox2
2) mooin as explained by x"wann
a) The 7rx below sets out the 1o3%x — each small square represent ¥4 iy
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b) namely

i) Once the pma has found '& n» and 'a ni the p7a continues his °72 along the
line that runs from point 1 (which is the center of the 713 for 'x n») through
point 5 (which finds the center of the 715 in which '» nn is found) to point 7
(which is the center of the furthest possible 715 on the right)

i) note in the 71X that this line is the 1o2%x of a square (1,3,7,6) that has a side of
exactly 5 mnx — and that (based on the rule that the 1035 of a square is equal
to its side times one and two-fifths) the length of this 17009 is 7 nnx

iii) the P12 then continues on a non-Noax basis for one more nx from point 7 to
point 8 to the end of the 7y for a total 7p>72 of 8 nnx in this 77vn

iv) the np>72 then continues for 6 nwaX in the 1¥i and 6 Nk in the opposite side of
the 1z without the 11 of 110278 — for a total of 20 nnx

V) 23X 7772 note that the part of the line from point 1 that locates '» n» at point 5
is itself the oo%x of square (1,2,4,5) that’s one ;1% on a side

3) Here is the 7% in X"wann as printed in pwya 0197 — the 137X in the 71¢ was omitted
in later o017
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